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F.Y. B.A. EXAMINATION, 2018
COMPULSORY ENGLISH
Text Prescribed : Visionary Gleam
(2013 Pattern)

Time : Three Hours Maximum Marks : 80

NB. — (1) All questions are compulsory.
(z) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A)
() How did the astrologer convince Guru Nayak about his
future ?
(i) Comment on the six pillars of self-esteem.
(B)
() Comment on the ending of the short story ‘The Gift of the
Magi’.
(i) Attempt a character sketch of Lachmi.

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]
(A)
(1) Comment on the significance of the title of the poem ‘A Red,
Red Rose’.

P.T.O.



[5301]-1001

(i) Do you think the poem ‘Where the Mind is Without Fear’
is relevant even today ? Give reasons for your answer.
(B)
(1) Elaborate the central idea of the poem ‘If You Call Me’.
(i) Discuss the poem ‘A Red, Red Rose’ as a love lyric.
3. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A)
(1)  ‘Unity in Diversity’ should strengthen the nation. Discuss.
(i) What, according to Karan Singh, are the avenues for service
open to the youth today ?
(B)
() How does Dr. B.R. Ambedkar describe democracy ?
(i) Comment on the significance of the title of the short story
‘The Eyes are not Here'.
4, Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A)
(1) How does William Wordsworth describe the city ?
(17 What is the narrator’s attitude towards the old woman.
(B)
(1)  What message does Emily Dickinson convey in her poem ‘Success
is Counted Sweetest’ ?
(i) Describe the beauty of London city as portrayed in the poem

‘Upon Westminster Bridge’.
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Attempt any four of the following : [08]

(1)

Narayan .................... (leave) the house at 7 a.m. and
.................... (wait) outside his house for the school bus.

(Use the verbs in brackets in simple present tense)

(i) One of my friends is/are a film actor.
(Choose the correct alternative and rewrite)
(i) My sister.................... (play) cards when the flight ....................
(start)
(Fill in the blanks, using the given verbs in their simple
past or past progressive forms).
(iv)  Five hundred rupees are a fair price for this dress.
(Correct the sentence and rewrite)
(v» The boys are playing cricket.
(Change the sentence into simple present tense and rewrite)
(vi) Vijay complete his homework yesterday.
(Correct the sentence and rewrite)
Attempt any two of the following : [08]
(1)  Mr. Magan invites his senior colleague to his daughter’s
wedding reception. Write a formal dialogue based on this
situation.
(i)  Your friend Priyanka wins the first prize in the dance
competition. Write a dialogue to congratulate her.
(1i7) Madhuri advises Sujata on how to prepare for competitive

examinations. Write a dialogue based on this situation.
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arelt fooed S ST WS TR 4l [10]
One day the king saw a poor man working in the field. It was
a very cold day, but the man had very few clothes on. He was
singing merrily while he was working. The king went to him
and said, “Don’t you feel cold in this weather ?” The man replied,
“No, I don’t feel the cold. You see that I have to work very
hard. That makes me warm.” Then the king said to him, “You
seen to be very happy. Are you really happy ?” The man replied,

“Of course, I am. I have no time to be unhappy.”
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Time : Three Hours Maximum Marks
Note — 20 marks are reserved for the oral exam.
Q.1] Répondez aux questions suivantes en phrase compléte. (5 au choix) [10]

1. Nommez deux monuments touristiques a Paris.
Nommez le fleuve qui coule a Lyon ?

Nommez les jours du week-end.

De quelle couleur est le ciel en été ?

Quelle partie du corps nous aide a écouter la musique ?
Nommez un vétement qu'on porte en hiver ?

Nommez deux 1égumes de votre choix.

Nk WS

Q.2] Lisez le texte suivant et Répondez aux questions suivantes : [10]
La famille de Vincent.

Vincent a 18 ans. Il a une grande famille. Il y a des parents, une sceur cadette, des grands parents
dans sa famille. Il a aussi les oncles et les tantes. Il n’a pas I’oncle paternel. Il a une tante
paternelle et deux tantes maternelles. Ses tantes lui font souvent des cadeaux. Ses oncles et les
tantes n’habitent pas dans la méme ville. Ils se réunissent au moins deux fois dans une année. Il
est heureux quand il est en famille. Sa famille est trés importante pour lui.
A) Les questions :
a) Quel age a Vincent ?
b) Combien de membres y a -t-il dans sa famille? Nommez les membres.
¢) Que lui font ses tantes ?
d) Qu’est —e qui est trés important pour Vincent ?
B) Dites vrai ou faux :

a) Il n’a pas de grands parents.

b) Ses oncles et ses tantes habitent dans les villes différentes.

¢) Son pere a un frere.

d) IIs se réunissent deux fois dans une semaine.
C) Donnez les contraires des adjectifs,

a) grand x

b) heureux x

No. [5301]-1003
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Q.3] La grammaire et le vocabulaire :
A) Mettez les verbes aux temps donnés : (10 au choix) (10)

1. Le médecin (étre — au présent) a 1’hopital.

2. Nous (parler —au présent) le francais dans la classe.

3. Je (avoir — au présent) un stylo.

4. Pauline ( venir — au futur proche) demain au college.

5. (regarder — au présent) — vous le match de cricket ?

6. Antoine et Marc (étre — au présent) des amis.

7. 1 (choisir — au futur proche) ses matieres demain.

8. Nous (mangef au présent) des fruits.

9. Je ( écrire-au présent) une lettre & mon ami.

10. Elle (prendre -au présent) le cours de danse.

11.Je ( recevoir — au présent) un colis.

12. Que (préférer — au présent) — vous boire? du café ou du thé ?

13. L’arbre (grandir - au présent) vite.

14. Tu (lire — au présent) au moins un journal chaque jour.
B) Complétez les phrases avec les pronoms corrects : (3)

1. Cefilm,a-t-  un grand succes ?

2. Elle _ appelle Marie.

3. ,il aime le cricket.

C) Mettez les phrases au négatif : (3)
1. 1I achéte le pantalon.
2. C’est une table.
3. Il yaun arbre.
D) Complétez les phrases avec les adjectifs suivants a la forme correcte : (4)
(indien, ce, nouveau, leur)

1. homme d’affaire voyage beaucoup en Europe.
2. Sania Nehwal est .
3. Les étudiants ont peur de enseignants.
4. Est- ce que vous avez des livres ?
E) Trouvez la questions aux réponses données.. )
1. ?(Utilisez « Est-ce que »)
- Non, ce n’est pas un cahier.
2. ?
- Ouj, il y a des fruits.
3. ?
- Thomas donne le stylo.
4, ?.

- Larobe de Jeanne est jolie.

[5301]-1003 2
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F) Mettez des articles définis /contractés : (3)

1. Elle veut livre.
2. Vous aimez café.
3. Ils prennent le livre professeur.

G) mettez les phrases a I'impératif : (3)
1. Tune regardes pas la tél¢ maintenant.
2. Vous parlez plus fort, s’il vous plait.
3. Turemplis cette fiche d’abord.
H) Complétez les phrases avec les prépositions correctes : (2)
1. Daniel vient Paris.
2. Lesoleil brille le ciel.
I) Trouvez I’intrus : (2)
1. Homme, femme, étudiante, directrice.
2. Livre, cahier, stylo, guitare.
J) Donnez le mot correct : (2)
1. Le pére de votre cousin : .
2. Quand la température est plus de 30°c, il fait
K) Reliez les colonnes suivantes : (4)

A B
1. | La Tour Eiffel a. | Je vous en prie
2. | Il neige b. | La ni¢ce
3. | La fille de la sceur | c. | monument
4. | Merci d. | En hiver.
Q.4] Traduisez le texte suivant en anglais : [10]

Bernadette est une jeune informaticienne. Elle a 24 ans. Elle travaille 8 Capgemini. Elle habite a
Paris. C’est une fille intelligente et sérieuse. Elle a peu d’amis. Elle aime lire. Elle lit toutes sortes
de livres. Sa passion, ¢’est le cinéma. Elle regarde beaucoup de films. Elle préfére aller au cinéma
chaque semaine pour regarder un film.

Q.5] Ecrivez une composition sur UN de sujets suivants : [10]
Ma saison préférée
ou
Ma maison.
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FRENCH (ADVANCED)

Time : Three Hours Maximum Marks : 80
Note — 20 marks are reserved for the oral exam.
Q.1] Traduisez le texte suivant en anglais. (10)

La nourriture est la plus importante pour la santé. C'est I'une de trois nécessités principales de 'homme.
La nourriture saine est la meilleure solution pour étre en bonne santé. Tout le monde a la maniére
différente de prendre le repas. Les Frangais prennent moins au petit-déjeuner ainsi qu’en Inde ou en
Angleterre, on mange beaucoup au petit déjeuner. En France, le petit déjeuner consiste en une boisson
chaude, le plus souvent d’un café noir ou au lait. Plusieurs Francais prennent des tartines de pain beurré
et de la confiture. Les enfants mangent parfois des céréales. Il y a peu de temps pour la plupart des gens
pour le déjeuner. Alars, ils mangent peu et souvent rapidement par exemple un sandwich, un fruit. Le
diner est avec la famille. Le fromage et le café sont deux aliments typiques de la cuisine francaise.

Q.2] Répondez aux questions suivantes. (3 au choix) (15)

1. Quel est le théme du poéme « Pour toi mon amour » ?

2. Comment est la relation entre Victor Hugo et Léopoldine manifestée dans le poéme « Elle avait
pris ce pli.... » ?

3. Quel est le message de la fahle << la cigale et la fourmi>>de La Fontaine. Expliquez.

4. Faites le portait de I'aveugle en vous basant sur la lecon « L'aveugle de Pont Neuf »

5. Pourquoi M Jourdain nous fait rire? Que veut dire Moliére dans cette piéce "Le Bourgeois
Gentilhomme?" Expliquez a travers la scéne 4 "La legon d'orthographe"

Q.3]A) Ecrivez un dialogue sur la situation donnée™: (10)
1. Vous étes au restaurant avec vos amis. Vous commandez le repas en discutant avec vos amis. Ecrivez
le dialogue entre vous et le garcon.

ou
2. Vous voulez aller a Kerala. Alors vous allez a une agence de voyage pour demander les
renseignements. Imaginez le dialogue entre vous et le personnel.

B) Dites vrai ou faux : (4)
1. Jean est le prénom le moins répandu dans la population francgaise.
2. Lasemaine du golit est réservée aux enfants.
3. Les nouvelles gymnastiques des années 80 tendent a disparaitre.
4. Lesenfants et les adultes se déguisent pour I'Epiphanie.

[5301]-1003 4



C) Reliez les colonnes : (4)

A B
1 | Le football a. | Le vélo.
2 | Lerugby b. | La lyonnaise
3 | Le tour de France c. | Le ballon ovale
4 | La pétanque d. | Le sport le plus populaire
D) Dites autrement : (2)
1. L'allongement :
2. Alacarte: .
Q.4] La Grammaire et le Vocabulaire : [35]

A) Mettez les verbes entre parenthéses aux temps de futur ou de passé : (6)
1. Demain je (assister) a un concert de la musique classique.

2. Hier nuit, mon pére (dormir) quand les voleurs (entrer) dans la maison.

3. Lefilm de Lorrain (sortir) le 1 avril 2017 jusqu’a ce temps- la nous ( finir)
notre examen.

4. Guillaume me (appeler) il y a quelques minutes.

B) Remplacez les mots soulignés par les pronoms :- (6)
1. Lestouristes vont auxiles Kerguelen.
L'informaticien voudrait apprendre la langue étrangére.
Les parents de Robert sont plus libres que vos parents.
Cette chemise est plus belle que cette chemise-la.
Il fait don des livres anciens a la bibliothéque de son institut.

v N

C) Réécrivez les phrases suivantes en utilisant les pronoms relatifs : (4)
1. C'est I'orange. L'orange porte le nom d’une couleur.
2. Le bridge est un jeu de cartes. Les enfants n’aiment pas le bridge.
3. Cesontdes notes. Les étudiants n’ont que besoin des notes.
4. Le professionnel du marketing visite des usines. Il vend ses produits dans ces usines.

D) Mettez les verbes au mode qui convient : (4)
1. SiBenoit jouait bien, il (gagner) le match.

2. Cet étudiant veut que I'épreuve (étre) facile.
3. Le médecin espére que le malade (se guérir) tot.
4 (pouvoir) — vous donner ses coordonnées, s'il vous plait ?

E) Mettez les phrases a la voix passive : (5)
1. Julien va prendre la décision.
2. Bastien a pris ces photos.
3. Pierre regarde la nouvelle tous les jours.
4. Le garcon offrait le café aux clients.

[6301]-1003 5 P.T.O.



5. On n'ouvre pas le magasin a 10h.

F) Complétez les phrases avec des adjectifs suivants : (4)
(beau, cher, dernier, petit)
1. Ce pantalon est

2. Ce
3. llyaun train qui vous emmeéne a Matheran.

de Sachin étaient difficile.

acteur joue des roles romantiques.

4. les années

G) Corrigez le contenu des phrases suivantes en utilisant les adverbes de négation : (2)
1. Ily a une montagne a hauteur de 8000 métres en Maharashtra.
2. L'Angleterre a gagné une fois le coup du monde du cricket.

H) Donnez des noms a partir des adjectifs suivants : (2)

a) Provincial :-
b) Chaud:

1) Complétez les phrases suivantes avec des adverbes de manijiére (2)
(prudent)

a) Iy ale verglas, alors il conduit
b) Elle'avu (gentil).

[5301]-1003
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F.Y. B.A. EXAMINATION, 2018
GERMAN (BASIC)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note —  All questions are compulsory. Written paper contains 60 marks.
10 marks are for Listening Comprehension and 10 marks for
Oral Exam.

Frage 1. Beantworten Sie die folgenden Fragen! (Nur 10) [10]
1. Wie finden Sie Deutsch?

Wie viele Zimmer hat Thre Wohnung?

Haben Sie Haustiere?

Wohin reisen Sie gern?

Ist Ihr Vater Journalist von Beruf?

Welche Sprachen kénnen Sie?

Wann haben Sie Geburtstag?

Was sind [hre Hobbys?

A S AT U o o

Was haben Sie am Wochenende gemacht?
10. Was darf man am College nicht machen?
11. Was bestellen Sie im Restaurant?

12. Wie heif3t die Hauptstadt von der Schweiz?

Frage I1. Ubersetzen Sie! [12]
(A) Ubersetzen Sie ins Englische! (04)

Karin Stern, 33, wohnt in Frankfurt. Sie ist Sozialarbeiterin und Hobbyfotografin.
,,Jch brauche keinen Luxus, keinen Geschirrspiiler und keinen Computer. Ich rauche
nicht und trinke keinen Alkohol. Geld brauche ich nur fiir meine Kameras, mein
Fotolabor und fiir Filme. Der Rest ist nicht so wichtig." Das stimmt: [hr Bad ist

eigentlich ein Fotolabor und ihr Schlafzimmer ein Fotoarchiv.

P.T.O.



(B) Ubersetzen Sie ins Englische! (04)
Im Juli und im August haben die Kinder in Deutschland keine Schule. Sie haben
Sommerferien. Dann haben sie viel Zeit. Sie machen Reise , sie schwimmen, oder
manchmal bleiben sie zu Hause. Sie arbeiten im Garten mit Eltern oder haben viel
Zeit fiir ihre Hobbys zum Beispiel: im Internet surfen, zeichnen oder einfach Fufiball
spielen. *“ Ich gehe nach Kassel im Sommer, da wohnen meine Grofeltern. Ich kann
da viel lesen und auch mit Marie , meine Katze, viel spielen” sagt Florian, 14 Jahre

alt.

(C) Ubersetzen Sie ins Deutsche! (Nur 4) (04)
1. Jochen needs books, animals but no entertainment.
My Sister can eat 35 bonbons in 5 minutes.

We don’t have a computer.

2

3

4. Cooking is my hobby.

5. Yesterday we have visited a café.
6

Are you married, Mr. Meier?

Frage III. Grammatik und Wortschatz. [32]
(A) Ergiinzen Sie die Personalpronomen! (Nur 4) (04)
1. Hastduein Radio? Ja,  ist sehr alt, aber funktioniert gut.
2. Kaufst du den Tisch hier? Ja, ich kaufe
3. ,,Wo wohnt Lisa und Sara?*
4. Die Kinder spielen im Garten. haben vielleicht Hunger.
5. Hallo Maja und Alex, Kommt __ heute in den Park?
6. Hey, wohin fahrst am Wochenende?
(B) Ergiinzen Sie die Possessivpronomen! (Nur 4) (04)
1. Das ist Martha Schiller. _ Mann ist Schauspieler von Beruf.
2. ,Uweund Andreas, istdas _ Auto?"
3. Wir haben zwei Kinder. ~ Kinder sind wirklich intelligent.
4. Esregnet. Ich brauche einen Regenschirm, aber Regenschirm ist kaputt.
5. Herr Gollner, sinddas  Autos?
6. Ich wohne in Delhi , aber _ﬁ Geschwister wohnen in Agra.
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(C)Schreiben Sie das richtige Modalverb! (Nur 4)

1.
2
3.
4. Jeetu hat Zahnschmerzen.Er nicht gut schlafen.Er

5.

du jetzt einen Orangensaft trinken? Hast du Durst?
Martha ist krank. Sie im Bett bleiben.

Gabi mit ihren Freunden ins kino gehen. Aber sie hat Fieber.

gehen.

Im Krankenhaus man nicht laut sprechen.

(D) Ergiinzen Sie die richtige Priposition! (Nur 4)

1.
2.
3.
4.
5.
6.
7.

Doris schreibt einen Brief ihre Eltern.
zwei Jahren lerne ich Deutsch,

Fihrt dieser Zug Mumbai ?

Leg das Fahrrad das Haus!

Hol bitte die Flasche dem Kiihlschrank !
die Tasche stecke ich mein Handy.

Die Maus liuft den Stiihlen.

(E) Schreiben Sie die folgenden Siitze im Perfekt! (Nur 4)

1.

A

6.

Leena ist krank.

Die Studenten feiern das Ende des Semesters,.
Sie bleiben zu Hause.

Ich studiere nie so gern.

Wann rdumst du das Zimmer auf?

Threr Mutter schenkt sie eine Tasche.

(F) Schreiben Sie das richtige Verb! (Nur 4)

(brauchen, sein, fragen, aufmachen, arbeiten, kaufen)

l.

2.

3.
4.

Jimi:* Wo Herr Bauer?” Ray:"Im Biiro.”
Jimi:“Aber heute ist Sonntag. er auch am Sonntag?”

« Sie die Jacke nicht?”

“Nein, Jacke ich nicht, ich habe schon zwei Jacken.”

Die Lehrerin die Schiiler

du bitte das Buch ?
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zum Arzt

(04)

(04)

(04)
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(G)Schreiben Sie die Gegenteile! (03)

1. kaltX
2. einschalten X
3. dunkel X
(H)Was passt? (02)
1. Sie trinkt gern Kaffee (in/ohne/fiir) Zucker.
2. Das Fenster ist noch auf. Machst du es (zu/mit/nach)?
3. Er schreibt eine Ansichtskarte. Er braucht keinen Kuli eine Karte! (und/
doch/ sondern)
4. Ich mochte einen Tisch kaufen. Hier ist (einer/welche/einen).
(I) Bilden Sie Fragen! (Nur 3) (03)

1. Morgen ruft Monika Herrn Graf an.
2. Nein, ich komme aus Indien.

3. Ich finde den Film langweilig.

4

Wir gehen heute ins Kino.

FrageIV. Schreiben Sie iiber eins der folgenden Themen! [06]
(A) Mein Deutschunterricht oder Meine Wohnung (04)
(B) Schreiben Sie einen Zettel oder eine SMS! (02)

Schreiben Sie einen Zettel ODER eine SMS fiir Marcel. Er mochte gerne
schwimmen gehen. Heute Nachmittag haben Sie keine Zeit. Aber heute Abend

kénnen Sie. Passt es um 17.00 Uhr? Marcel soll wieder eine SMS schicken.
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GERMAN (ADVANCED)
Time : Three Hours Maximum Marks : 80
Note — Use of a dictionary is not allowed. This paper carries 60 marks.
10 marks are for Listening Comprehension and 10 marks for

Oral Exam.

Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi! [14]
(A) ) (04)
Die Zeit vor Weihnachten ist in Deutschland, Osterreich und in der Schweiz genauso wichtig wie

das Weihnachtsfest selbst. Die Adventszeit beginnt vier Sonntage vor Weihnachten. Schon
vorher, seit Mitte November sind viele Stadte mit Lichterketten und Tannengriin dekoriert. Die
meisten Familien haben einen Adventskranz mit vier Kerzen. Jeden Sonntag wird eine Kerze
angeziindet.

B 04
Van(es;a fliegt oft von Deutschland nach Indien und zurtick. Sie erzahlt, warum sie nicht so gn(amg
fliegt: Ich fliege nicht so gern, und du? Das Fliegen ist meistens nicht so angenehm. Bei
internationalen Fliigen muss man zum Beispiel zwei Stunden vor dem Abflug am Flughafen sein.
Und die Flughifen, die sind ja immer so weit weg vom Stadtzentrum. Da muss man noch eine
Stunde friiher aus dem Haus,

(C) Ubersetzen Sie ins Deutsche! (Nur 3) (06)
1. Friends and family play a very important role.

2. We celebrate all the festivals together and have fun.

3. What is the capital of Austria? —Vienna.

4. Are you not well? Then you must go to the doctor.

5. Every morning I do Yoga and jog for an hour .

Frage 2. Beantworten Sie FUNF der folgenden Fragen! [10]
1. Wie ist Ihre Beziehung mit [hren Geschwistern? Was machen Sie zusammen?

Schreiben Sie kurz tiber [hre Lieblingsstadt in Indien.

Essen Sie gern Fastfood? Wie heilit das Wort ,Fastfood® auf Deutsch?
Sind Freunde wichtig? Warum?

Was sind nach Threr Meinung die wichtigen Werte im Leben?
Schreiben Sie kurz tiber Emmigration.

Wann wurde die Berliner Mauer gebaut? Wann wurde sie gefallen?
Was wissen Sie iiber die Stadt Frankfurt?

NN R W
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Frage 3.

Grammatik und Wortschatz [24]

(A) Schreiben Sie die Siitze in Passiv! (Nur 4) (04)

APl ol e

Die Frau holt die Kinder von der Schule ab.

Die Leute verstehen die Sprache nicht.

Sandra hat einen Artikel zu dem Thema Migration geschrieben.

Der Mann schickt einen Brief.

Meine Kinder spielten den ganzen Abend in den Sommerferien.

Herr und Frau Martez miissen tiber die Familienprobleme diskutieren.

(B) Schreiben Sie die Siitze im Priteritum! Nur 4) (04)

1.

wn

Friiher . Heute diirfen auch Frauen als
Managerinnen arbeiten.

Heute lesen die Kinder nicht so viel. Friiher .
Fast jede Person fiahrt ins Ausland fiir Studium oder  Arbeit.
Friher .

Frither . Heute trinkt er aber wenig
Alkohol. :

Man die Berliner Mauer im Jahr 1961.
Friiher . Heute essen die Jugendliche viel
mehr Fastfood.

(C) Bilden Sie das Perfekt! (Nur 4) (04)

DU W~

Die Frauen sehen die Méanner kommen.

Man lésst die Eier im Wasser kochen.

Die Frau kann sehr gut Violine spielen.

Viele junge Paare wollen nicht heiraten.

Ich muss jetzt nach Hause.

Sie miissen jeden Tag das Zimmer aufrdumen.

(D) Verbinden Sie die Siitze! (Nur 4) (04)

N =

n

6.

Sie hat keine Stelle mehr. Sie wohnt immer noch nicht bei ihren Eltern.

Es ist heute ganz klar. Méanner helfen ihren Frauen im Haushalt.

Die Kinder haben keine Zeit. Die Mutter erzihlt den Vater.

Korruption bringt soziale Probleme. Starke Industrialisierung bringt auch soziale
Probleme.

WG ist eine gute Option. Sie bringt Schwierigkeiten mit.

Ich esse gern Fleisch. Ich esse auch Gemiise gern.

(E) Bilden Sie Relativsitze! (Nur 4) (04)

1.
2.

Die Lehrerin hilft ihren Studenten. Sie kommt aus Indien.
Der Mann arbeitet in meiner Firma. Ich kenne ihn seit zwei Jahren.
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3. Der Wald ist gefahrlich in der Nacht. Er liegt auflerhalb der Stadt.
4. Pune ist eine entwickelte Stadt. Sie hat viele ausldndische Firmen,
S. Meine GroBeltern sind sehr nett. Man kann mit ihnen alles diskutieren.
6. Frau Grobbels war Managerin bei Siemens. Heute arbeitet sie nicht mehr.
(F) Erginzen Sie das richtige Wort! (Nur 4) (04)

—_

In Deutschland ist ein Schornsteinfeger ein

2. Die Kinder bekommen jeden Monat von ihren Eltern eine feste Summe vom Geld.

Das ist das

Miinchen ist sehr bekannt fiir das Volksfest: .

4, Vier Kerzen, eine flir jeden Sonntag im Dezember. Diese Zeit nennt man in
Deutschland als

5. Viele Leute haben keine Arbeit, keine Jobs Sie sind

6. Leipzig ist bekannt als die _ Deutschlands.

(98]

Fraged4. Lesen Sie den folgenden Text und beantworten Sie die darauf folgenden [08]
Fragen!

40 Millionen Deutsche ab 14 Jahren sind mindestens in einem sozialen Netzwerk Mitglied. 2010

waren es erst ca. 30 Millionen, 2011 sind es 40 Millionen. Ohne Internet-Profil sind Jugendliche

sehr schnell ,,out”. Durchschnittlich sind die Mitglieder in 2,5 Communities angemeldet.Sie

haben dort insgesamt 133 Kontakte. Jiingere User sind dabei kontaktfreudiger. Fast jeder Dritte

unter 30 hat tiber 200 Personen in seiner Kontaktliste.

Wie viel Zeit verbringt man in Netzwerken? Die Dauer variiert stark. Heavy User verbringen
taglich mehr als 2 Stunden in den Netzwerken. Mit 80 zu 74 prozent sind Frauen aktiver als
Minner. Die meisten User wollen Kontakte zu Freunden und Bekannten pflegen. Fiir 78 Prozent
der Community User ist das sehr wichtig. 41 Prozent wollen gleiche Interessen mit anderen
Menschen austauschen, und 30 Prozent wollen neue Freunde oder Bekannte finden. 6 Prozent
lernen so ihren Lebensparter kennen. Communities sind nicht nur Networks zwischen Menschen,
sondern auch wichtig im Job. Die meisten Menschen machen gute Erfahrungen in den
Netzwerken, nur einige haben etwas Negatives berichtet.

A. Beantworte die Fragen! (Nur 2) (04)
1. Wofiir benutzen Leute Soziale Netzwerke?
2. Sind Sie Mitglied in einem sozialen Netzwerk? Welches?
3. Wie viel Zeit verbringen Sie in sozialen Netzwerken? Was machen Sie?
4. Nennen Sie die Vorteile und Nachteile von sozialen Netzwerken.
B. Richtig oder Falsch! (02)
1. Junge Leute benutzen Soziale Netzwerke mehr.
2. Ménner sind heavy Users als Frauen.
3. Einige finden im Internet Liebe.
4. Manchmal kénnen soziale Netzwerke auch negativ benutzt werden.
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C. Suchen Sie aus dem Text: (02)

1. Gegenteil von ,schwach'
2. Synonym fiir ,jeden Tag"

Frage 5. Dialog Schreiben [04]
Ergiinzen Sie den Dialog!
Im Restaurant

e Guten Tag,

* Guten Tag. Ich hitte gern einen Kartoffelsalat

= Ja, ein Bier bitte.

e FEin Kartoffelsalat und ein Bier. Kommt gleich
* Danke.

Oh ja, der Salat schmeckt echt gut and das Bier ist genau so richtig kalt fiir den Sommer.
. ?

e Nein danke, das wire alles.

=  Das macht 16, 20 Euro. Danke.

[6301]-1004 8



Total No. of Questions—5] [Total No. of Printed Pages—2

Seat
No. [5301]-1006
F.Y. B.A. EXAMINATION, 2018
GUJARATI
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
1. AARAniel gdue 35 @AMy uz [ela gqu [16]

(1) Q@) sc\et, whene acted
Vol gagel) anet auuiRean

(
(3) e enis Aduaay
() Cachl o S eya

2. DAl ASuel B usAdl WA G il [16]

Avte 2] 8
(2) HRAEN A astqjond Yt o521 ¢ 2pivien

() ‘e Y Fawy A7 ol (320 o atTe

3. laqwiiel siSua B sl WQ G @l [16]
() @nalse w2l o @y Ruecrchioun” sicmi Gateroy
=, | 3
@) @aaise s ol Uz,
L 1]
4. @y z23ale cul CERfug- %) (8]

(D A 2R S By oy adH
@) 2R afs n s ST 2\ ot Y,
P.T.0.



() aseile avil @ (516 ua 2As) (8]
( ) ez o\ M2y anials :ms\ TP SRN S g Ay .

(2) Doy 2\ C\Q% Ay o 2l

5. (»1) vyaluz Aslaranil ¢ (s ug - s o&) (8]
(1) £ B 9\\‘ 2B\ 1722 9031z
2l saetinldl sasf @ W Gy,
(3) QA & snaod &(\hd\'i‘)q |
() @A - 2R Al asjofay] N g{’*\ &yl

2
() canay B A asaet o 28 Qe 8]
A\ AN
AU
() o\ Felp ot 2\ {geey 01 [8]

SP&D ) A S
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat
No. [53011-1007
F.Y. B.A. EXAMINATION, 2018
URDU
General Paper I
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) Attempt A/l questions.

(15)

(15)

(15)

P.T.O.

Figures to the left indicate full marks.

(A) Bang-e-Dara, Part L
(B) Chand Hum Asr.

_.gofdﬂb/f?uf(}{uy?ljjﬂ%’dJéﬁuf ZI/,‘UV
L

_Zl.o‘/’lgd;!{d:@(gju’

Btk e S PSSk e
b
-“Aljﬁjgywjl:JGTLd;é‘fléJﬂ

—

_Z bbb Fe b SUBLa I (LIDF 1y
b
B P eSO



Ay

:cyfijb/

(15) LGt sl P (L)
{
BB L S

(10) BT SIS S UL s
Syt - Feeuy - ,ﬂﬁ,»lu" _

(10) SSRGS e vl
iz uquLfL,JJHL I e LML ALL
St T WJJJL&»{-JJ@'U’ */.,&r‘
W1 7S WG ufé' d/“ By

< 6y Lﬁx@l’?dﬁffé/ LJL’J S r’b ajihf
& oS wo $h o &l fdr rtq.ay

sl Ou o Sas

Lﬂf'éfié;Jﬁp’ U JJEL;

UBISE el
UE U2l d% oI 2
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Total No. of Questions—5+5] [Total No. of Printed Pages—6

Seat

No. [53011-1010

F.Y. B.A. EXAMINATION, 2018
HINDI GENERAL—I
R wm w1
(2013 PATTERN)
UeaTESh — () T dvE
HUEH ; . &g BWER
(/) & G
g ;A He quTich : 80
e — (1) |t v siferd ¥
(i) Tfet R fo@ o/ wed & Ui ¥

1. feafafed 5 @ 6= @ w9 & W fafeg - [16]

(1) ‘" @t Afelt’ wert # snyftes S w1 GuW qen Hige 1 fee
fh yoR foam & 2

(2) ‘g@' &l ok Hiemarg w fafed =@ &l e s

(3) ‘=l I 9@ 9’ wErt H Agari 7 et afEE ol Tgde™ STeHt
*H H gHEE ?

(4) T @gEs 7 9@ 9RdG @ fed e hEEn iR w2

(5) ‘HU I AU SR’ UE Skl ARM W HifST |

2, frAfafea & & &=l & gl o sWw fafew . [16]
(1) ‘oitEl @ foak' wfaa w1 9w A wissi # fafEwd
2) ‘B W T U wfaa & mem A wfa 7 Hhw @y fgm ® 2
(3) ‘St fyremd dred §' wfoan <@m wfa Tagas w1 eEd Yo
g 7

P.T.O.



(4)

5)

3. (31)
(1)
4, (37)

[6301]-1010

‘FHT T A WR FA' Kfga H walwt gus FAR AeE A e
TS 1 &S STEY YA fear T 2
‘T IR YW Yol §' Hiddl HT ARE TS RIS |

frefafea staaeol & & fodl wer staaeon &1 ggcd  saren

I [07]

() TR TRl g T e wéH e off et URI i v
® Tl 9% el ® & aREe ¥ | ;AN Tes
fer f& Aeca-Srctarel 3 gfdl 9ol STell go of | i ST
g off T gy o™ o et ¥

(7 " A F wE gE & T osmn i fe osmen ot @
g ot dERE| aSt giYed ¥ awel ok @ T e U@ 9
steff @1 e Qe

frfafed saaon # @ fodl Tew oo &1 gucy o

Hifeq [07]
() ‘'da #

W w2 g e

ERCIC

SRS ¥ Rl | Hehdl gl
¥ g &1 e genm diewm F1

(77) YT W W F AR FF feAl F AR
geff 32, A A IW HE fAl & 9
T 33 W W H AW HE feAl F AR
HT A GoorE e W A & e

Frefafea ok w1 8§ ¥ fhgl o8 & fedt waf fafew : [08]
(1) Affidavit

(2) Concession

(3) Deputation

(4) Eligibility

(5) Gazette

(6) Lien



(em)

(®)

(1)
(2)
3)

[6301]-1010

(7) Memorandum

(8) Officiating

(9) Tribunal

(10) Zone

frafafed # & fF<l o8 o=l &I YRy w R § fafew : [08]
(1) I8 &9 ¥9 =1 39 T

2) ¥ @I A M W o

(3) & Sd IR O Wi T

(4) =R 9@ 9 T g Tl

(5) % BF A TAH w SHT @ NG

(6) =9 H& S <A1 =Rd @, 98 Qe |

(7) A8 e A W T

(8) wRa = faenfedi 7 =8t TOR *|

(9) TH 3Tk A9 I HEA |

(10) g @1 9R YA 9|

frafafed & 4 fodl e Wme &1 et § AR &ifse : [06]

In the present stage of the country its defence has become all

the more important. All the national planning activities should
be viewed from this angle. The main base or a country’s power
is its economic strength according to economists. Yet we should
always be prepared to make sacrifices for its defence and all
round progress.

3T PR STt afRfeafa o, < <= QREE Hewd STUE T areerel
3R, A1 gfte U Aledial Td hHehToehe feel Tl uifest. hioreet
TN WA G SR <91 TiYhgtedl ggg T80l 8 Y, ALANE=g
T UA 3. T WA ST IMeAHeEen it @ren fafautt fasmmamart

TRl Sfele dd™ NS deal TRl olied.

frfafeq § & fedt e foom w fEy fafew . [12]

afg #§ guHEst B
Yd hl Hed
IS H gk AR AN Hifem

3 P.T.O.



T : |9 Hue

[5301]-1010
yaisgeeR féat (Functional Hindi)
W :

80

o o— () |t g st §)
(i) Tt R fo@ o wvd o qouiieh %

1. (31 fTrafafea ofosh wiwfoes v 4 4 fol ©: w=g) & f&di =i

fafeT

(1)
(2)
3)
(4)
5)
(6)
(7)
(8)
(1)

% oER fafem

(1)
(2)
3)
(4)
5)
(6)
(7)
(8)

[06]
Advance

Bond

Commissioner

Division

Endorsement

Factor

Heritage

Tendency

frafafed # @ f=l ®: U el qen fagdl &l oFe& o

[06]
37 + 22 =59

24 + 4 =6

12 x 5 = 60

66

37 — 23 = 14

88%

77-6

94

2, fAfafeq aeRl § ¥ <l o6 o=@l & AM® addl o STER W IREY

#h fafe .
Tg ShAH a& T
¥ & = g

(1)
(2)
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3)
(4)
5)
(6)
(7)
(8)
9)
(10)

(em)
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T U TS T

Fa fuasit ®F w9
Wed 3™ & W
T H q TUC MG
I I® HH H|
i 7o feea
I @ oo

# T weRmEn T

ffafead dieee &1 Th-TaeR st § 9R-oed # 34 3fud vives
ISR [06]
‘e’ Flesk Yow § yafeld aehed faun ¥, S gved: 16 Tt
Y TN H Bl HAledk TR gd H MY YW AR dfHedrg, W gE
H werme iR <farm § e Wy ¥ o ¥ aw e fawga -um
I YW T TR UfYEH Ww o W Wi hf e H 9gs & a9
Thetl geTl g1 IS oF 3(qud AR oo & I T 19 §&ha 9ifecd,
Fe Tifecd, FAleh o I R Tild § T W TR g1 @E &
grivedt Rl H UeEifed Wi, ACFEdl Ud JI-9id W g o
TOH @ ST Hehdl &1 FGNE H H&hd UHH &1 e fatyredrs st
uftwifedt &1 uft@m oy uRafed 1
frfafed o= § & fodl & ©& % g%9 TR &S ;. [10]
(1) TEEE WEAUS 98 o6 3] o ol W@ga &l TA1 TR Hifag |
(2) haH/hdeh! hides, TRICHT Ml AT, hicalqX U, Shicerq fefen afieR
o foren Iy o W WK HHhE UM o AU STEga-dA
fereran/faad ©1
(3) TG/l WA, TeI¥E U3, Y0 ¥ fourfa SIfyadr, wermse
T foaga Aee, WeIvd U3 Ul @l YRR & § aR-eR fostel
% dfed 81 & RO FeEa-ud T/ faed §)
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4, ()

(am)

5, (37)

(am)
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frfafed @ 4 fodl @ fomdl W fagme &1 T @R ®iT e
[10]

(1) To0e &1 foqed @R SRS

(2) T-Td R W Wl o faw TuEdw 9 @ fomeE

(3) @ =t fodt w1 formme |

(4) T Hod Uk &1 fowme |

frefafad md stgar IRt uime @1 & § oeR =T @ [06]

e ST HAATh ST QUaid JUA HRRR A=l G&A dedd

A AR ARl FagA ohal STd i, T hvargel @ere Al o

IEl. had hEl STIREE TR Weholl HEaR Hed foeft el
3T

It has been observed that sanctions are obtained after incurring
the expenditure, with the result that is infux of ex-post facto
sanctions form your ministry. It is obtained before incurring the
expenditure and ex-post facto sanctions issued only in unavoidable
cases.

frfofed oemda gedl 8 9 ffdl d & s fafeg . [12]
(1) fafed «men iR difgew W™ § @ T it |

(2) TEEU DR H GREF HIWT |

(3) fommm =1 @WEd T #Wew fove &INT|

(4) dfpm & # & &1 7 w= &)

frefafed fasei # § fodl aw w fewfer fafey . [16]
(1) GUeh ol

(2) #WFe fafg @1 A&

(3) 3TIAIE =h1 Hgd

(4) SHEER S HEAH

(5) @&

(6) wIfereR hedl |




Total No. of Questions—5] [Total No. of Printed Pages—5

o [5301]-1011

F.Y. B.A. EXAMINATION, 2018
PERSIAN
General Paper 1
(Text : Aks-e-Farsi)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. —(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. Define and illustrate any five of the following : [10]
sl (D)
I (r)
()

(bd’g (")
P (o)
Ay (D)
sl (2)

2. Write short notes on any zwo of the following : [10]

A
Jr (0
St ()
gt ()

P.T.O.



(A) Reproduce on any one story of the following :

U;‘W L erler s
Db od ep o
Lfy Sl g 6>

(B) Write short notes on any ¢wo of the following :
i,
3 / )
$il sl

i Lyl

Translate and explain any zen couplets of the following :

Vi
e S S
PSRRI,

< Jss\ea Lﬁiﬁ
Fhesf e I
Y ﬁff,:hfd 74
Y Jf} [;.«L? &U;

[10]
Q)
(r)
(")
[12]
Q)
(r)
(r)
(")

[20]

€))

(r)

()
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;,»jél;i’f?/;l;?lz

SIS (bu”;?&j;/f
LS S

,g{:lf?#) S s
|”§§43?b,,,3;9”)b

&SIl IS
osls $oTJL 2014

I uvqu;/ffuﬁj
(j”ffﬂu L{f d}l;,g

ks ol ety 2t
i PR Uz G

| lb};/'/‘aé',: LKM
cﬂf;{;giﬁh3ﬁ%g;ﬁ

cj‘%'u} ;,)1?;;9,’29
A S b !

I ay EVERCY
s ijfugfdi

T

7/
4

Kor Il

3

()

(o)

(1)

(2)

(A)

(9)

(1+)

(1)

()
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5. (A) Translate the passage in English or Urdu or Marathi (any

two) :
N I IOl AV I 9 PG et S D RIPY .
;;/quw —y JT ?w‘f;f e B ﬂ;té,, é/» !
SLroinug:adssné & o aiosl sttt
8 sk C kil i/c&)/déi/@f@.f@: ;/Lc,g)[
MTM?%ééw_ﬁjﬁgﬁ;ﬂ/:m&fﬁ%u@l_,ﬁT
NUPEP-IRyNE
el w3k JL /f; s &/beé Y PSR d N
-ﬁ//z;‘f)uﬂ’,aﬁ@wguf/w
;}rlg’/:ﬂ’i",Jzﬁ%ag;/}j,ﬁ/;;ug?(’%,/?qiui
S UE 1 Sl 2P By §1 e _Sal e s gUf
syl g e /“ar"(ﬂ (ﬁLU’ﬂ?‘;«'/.‘J/Mi}UJ?’
L
_}:;/z/’i@fé_v._J,uuw,-)y,/gg‘&?gguf}:uw‘f
u”’fuumr!,«g,;' utjwlgt“-&f’;’:/!uu/dhofuz D/Jﬂ,
/é&./?}/ Jas JT 2 (7.1/(4}53_,0)/. A7 L -Jo;LJ 37 3!

-

[10]

(1)

(")

()
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Yty ._./,,:l:'kf/"u;uf SV PNy olfbg ul:/.""ﬂéfl' 23T ()

YA FESL> CA UT sl S17 1 4 Lalisl T Jas 0l
1Y olf?-¢_;/'/c_w~.l,~ fggu{ olf?;g ok S Jﬁu,’
PLAVRY u"ﬁt ;/U/,JUZ,J//&Q u"g’:/&':u"LL{ ;u;?. u;f'
AV LS hs ] abf,g ﬁ(}/

(B) Translate the unseen English passage in Persian or Urdu or

Marathi : [8]

A volcano causes great disaster when erupts. The eruption of

1883 of a volcano was 80 loud that was heard 3500 km away

from its place.
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5301]-1012

F.Y. B.A. EXAMINATION, 2018
SANSKRIT (G&Fd)
G-1 : GIWURAl (Surabharati)
(2013 PATTERN)
9@ : dF A" THUT 7T : 80
g — (1) |d Yy Aad sed.
All questions are compulsory.
(77) SSEIHRSrd 3k YO IO Siferand.
Figures to the right indicate full marks.

1. ‘&’ erfor ‘g fourTdia ®IvTEE! igid Aeid feRaT SUSA WIS
E U [16]
Translate any two each from Sections ‘A’ and ‘B’ into Marathi or
English :

‘or’ faam
Section ‘A’

(7)) 1893 fgwe: R s AU Fiafed favauese 33 qauHaReg
faaud 39 ST whan: eI slcy fawdy SYEHE e geE
el YeRiIeh: e YR wan-denerd: We w|ta @ifa
GAYHIREEI WM Y| Hfquasd: WEW: qd aRue: ST
TR AT | Suifaeery] =t 9ftar s | gfafeiam stfeemreag

P.T.O.



(11)

(117)

(1)

(11)

(117)

[6301]-1012

freiftar smefiq) Oeaed fagm fea: g SA1: Sg-qfkemn: Ot
fordierdtan: qen 9 SFRgEAT: 93 GHifad: S|
ST A1 SR FoeeA: el Aol ffceataaen f5f | s 'e
TR g7 W fomm € wd fafga)
T T WREISHNSHA J& o | & 9 WREISISSHA: &5 oF |
AT qUGAISHASSHA Alh] g | A& TIGAISHASSTHA Sl
AT | AR WGAISTASSTHA e o |
AT @ gEfd R I e faeas SseygefteayEg: | 9 T
gl quaisfy s Wiy agrRvd sidifasendl:  YERRareRded-
SEAHTEA AT Yehfe ol d YT Tesaa=Hgard | ad: fageer
Fren geifdsE—" a-He  warfaseed | HaRaeg g |

‘' faem

Section ‘B’

Afaersifa aereF=R: Hisfy gg-

4 T dfeEwH didd: qeEw |

farafd fe uagdica queds

gafd = fereHged  =sehT: I

W yomgfRidar me = A 9ol
Toge fuer Jeromad difaan: @)

3N goclied Ay Hifd-yerRE 3-
d<  YRAAGYfITTAE AR, 9eH |
w fe gquein fom oo

S ICHIE RS S IR [ G CE g

STATARAAMG] A eRITHIG: |
Tl 39 A= fagsar SR
2



2. TgeN & foRmEw wedr ? [16]
Which Vidyas are learned by Candrapida ?
feRar
(Or)
(7) ‘Tame wgdy’ W uee fafede Rw w7
(i)  Critically appreciate the lesson ‘==srdte® fommrgum '

3. ‘'UEidiEdae:’ A1 Ul THRU . [16]

Appreciate the lesson ‘=AaIEdE:’.

feRar
(Or)
‘qugtgTedky’ A U THURY . [16]

Appreciate the lesson ‘TUgIgTZHY .

4, ‘S errfor ‘g founTdid Y@ RIUIATEl SIElY UcH  TUS]
ETUI [16]
Explain with reference to context any Zwo each from Sections ‘A’
and Section ‘B’ :

‘or’ faum
Section ‘A’
(/) T STRHAETOEEY: Yida<E: |
(i) TS A TAd |
(i) = ufddwd: SIS Hig:|
‘w' fauam
Section ‘B’
(/) TH HifdeL e qETERITayfosafd |
(i) HIdd SAUTEE dAAd A W wWWd

~ n

(if7) Sl AFEAS qUE d gHT Tfd: |

[6301]-1012 3 P.T.O.



Write
(1)

(11)

(711

(1v)

[6301]-1012

JEicteh] HIAR greierR fadws uf=ee fomr [16]

short notes on any ¢wo of the following :

HIfEAM  helell  YSTigdier=i

Kautilya’s thought about welfare of the people

EEA | M | G ERC)
Character sketch of ‘z=<:’
AUE F A A GWIaeRE  dhoe!  gor

Comparison of man and actor stated by Subhashitkar.
BEECERITCECIRIC
Preparation of HeHHUREg



Total No. of Questions—5] [Total No. of Printed Pages—5

S;;jt [5301]-1015

F.Y. B.A. EXAMINATION, 2018
ARABIC
General Paper I
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
1. Translate into English or Urdu or Marathi any ¢Zwo of the following
passages : [20]

N e ]

Ao Ll gy 7 a5 35850 I Shy G a1 N R is ds, (el

O I w

el G g o Sl 35Sl Condsy 5 0l dl L) Coaldg

£ <

2 A e ‘:’ - -~ '/ -~ - - 7 f v . N
Sl jas a8 ST Ul 2 0a5 530l (b 8 ko

2 P P .8 .. 2 &
=S WOV WG| B ¥ SV S D

-

IV _am £ 50 5 ehe D )

P

jh.'.g 9 J.,.,QA.H D e 3D g_:,..;..:..“ Sakal P! J.._E = d R 9 ‘/\._.:é J

- 7

2 2 27 . w 7 Foso, P -
0y szl 25 g g‘jl.‘,a_ﬂ o &J._a_: Ls_‘o._L_M: _g;)\._:.g_ﬂ\ LS‘H

S 215300 8551 1 s a0 ) SasTy s A sTHIUT (o)

s 0 £

i 5 OV Jemdh) N2 05 el _ 2 0058871 b il L3 i)

P.T.O.



L7 > - - L P s 2 . ow E - P
EE{ENEIFLLY - peoneed 3 e e Y =SS DL - LS|
2 _ s - w B - - - 8 Y s B -
Sl _6\._&.)4” 'c.:..)as 9 %L_AM J._A.:\.}._'; 9 c_ﬁ.)a_»._ﬂ J._‘>- S} ‘Ls_.o._l._,w
OT,0 5 el 53553 W Dy ol dial,d ) S ads
_&Lgvk.;d‘j

s - g

-
Ao
Pt

25 8 -2 3

. L7 8 IS . L7278 < - f .
P S E S ULV NG S SUEE O U NG SENUIEC) SO N .

. A2 s s 57 . L PR LR I . . 7 -
Pk _diaa)) gi 1ds _iSas _c\fji R O el A sl

-

f)

57 8 ] P - P R - 2 Z - 2~ P P Pl - < 4
diagimd) O _8 S dals dngsr _aS Al S Jaaa )
sl 4

2. Explain any five of the following verses :

2 W BN g

S ONEY)

s 1L s w
Ls.sl.sj.@.b

S &

(@)

[15]

QY

(V)

)
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SN ]S

L.S‘:.MD- L.S?MD-

E 2

Ls.c..n.»\.?- LS.:..A.M.P-

: :
2 2 }})‘/
s el

> o T 5 8

S &5

P
R A
Q

GO O

? > .)/

Ls.l..«.&.h.: uﬁ
=2 2

> 27 L

2 EE J

P " g

(s c>.=.3

Define with examples any zwo of the following :

JeeS i RFRPANTIN)

JiCE e e
5, LaY) Ll

Siledt

(&)

()

(V)

(V)

(M)

[10]

(V)

(M)

(™)

(9)
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4.

Explain any ¢wo of the long notes :

(A)

PR PRN]
< Ll
G e

A el ARV dan)

Translate the following into English (any five) :
S e RIS S

-
PP A, 2
JaL A L St Al
P - . et -
_\.@.3.:&# s R.Sj.&_&.ﬁ =
AL 2w s ISNTRS
-8 _ w87
e 4l O ]
2R f 2
iV 6 el el
.)fq . e - 2 -
ash 8 b Jele gl

USSR ER e gy

[15]

QP

(M)

Q)

(9)

[10]

(V)

(M)

Q)

(9)

(°)

(V)

V)

(M

[6301]-1015



(B)

Translate the following into Arabic (any five) :

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

On the window there is a curtain.
Ali is returning with Fatima.

That bus is going to the University.
This school is good.

He is going to his friend.

In the fridge there is an apple.
There is a newspaper on the table.

His office is far from his home.

[10]

[6301]-1015



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

F.Y. B.A. EXAMINATION, 2018
ECONOMICS
(G-1 : Indian Economy—Problems and Prospects)

(2013 PATTERN)

Time : Three Hours Maximum Marks :

N.B. .— (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four)
(1) Explain the concept of developed economy.
(i) Explain the concept of poverty line.
(ii7) Explain the concept of Special Economic Zone (SEZ).
(iv) Explain the concept of social security.
(v)  Explain the need of planning.

(vi) Explain the concept of Regional Imbalance.

No. [53011-1016

80

: [20]

P.T.O.



2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the measures of population control.
(z/) Explain the causes of farmers’ suicide.
(i) Explain the new economic reforms.

(1v) Explain the role of co-operative in economic development of

Maharashtra.

3. Answer the following questions in 400 words (any one) : [20]
(1) Explain the causes and measures of unemployment in India.

(zi) Explain the objectives, achievements and failures of 11th Five

Year Plan.

4. Write notes in 100 words each (any four) : [20]
(1)  Per capita income
(if) Sex composition
(7i1) Green Revolution
(1v) Knowledge based industry
(v)  Industrial dispute

(vi) Water management.

[6301]-1016 2



9@ @ dF A THUT 7T : 80

(77) SSEIESIA 3k YA qUl IO SFifdam.

(iii) USHHES T TUSH UYAUAR] TRE.

1. Eid Yol sl 100 &M Ia) el (Fiudel |mn) [20]
(7)) fowfaa sd=meed=h Hewca T &
(77) TIGA [ Gehoddl TR H.
(i) foRiw snfefe &5 (J9) Hehoqdl W HA
(7v) WIS, GUHAd=l Hhedd T A

(v) TESHREr esaeha W 6.

(vi) TYICI3Toh STEHAIA HohoUdl TS H.

2. Woitd Y Ykl 200 IS Sclk forel (hIvmEl @) [20]

(7)) pEEn e SUE W L

(77) TORY  STCHEI=N hIUl T H.

(jip) AfeR oTfde FUROT TR FHA

(iv) WeNSgr= e fashmandia Heshrr=t  fidr T .

[6301]-1016 3 P.T.O.



3. TEld YEAET UIH! 400 VM IW fa@l (HIUMRE Th) [20]

(7)) YA ShEl RO F 3UE TR R

e N n

(i) 11 G=arte Al SfEsl a AuiIER TR &

4. YIH 100 @ four fo@ (FVEE W W) [20]
(1) TEE A
(i) SH-TET g
(7ii) BRashidt
(Zv) SR e
(v) iR el

(vi) STA-FIEIYA.

[6301]-1016 4



[5301]-1016

(G-1 : Agricultural Economics)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of Agricultural Economics.
(i7) Explain the concept of Organic Farming.
(1i7) Explain the demerits of Co-operative marketing.
(iv) Explain the Minimum Wages Act.
(v)  Explain the traditional methods of irrigation.

(vi) Explain the objectives of World Trade Organization (WTO).

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the preventive measures of farmers’ suicide.
(i1) Explain the Agricultural Export and Import Policy since 2009.
(1i7) Explain the sources of agricultural finance.

(iv) Explain the impact of World Trade Organization on Indian

Agriculture.

[6301]-1016 5 P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Explain the achievements and failures of green revolution.

(zi) Explain the reasons and remedies of drought.

4. Write short notes on (any four) : [20]
(1)  Scope of Agricultural Economics
(i) Special Economic Zone (SEZ)
(7i7) Foreign Direct Investment in Agriculture
(iv) Types of Agricultural Labour
(vw NABARD

(vi) National Rural Employment Guaranty Scheme.

(W& wUTaR)
9@ : dF A THUT T : 80
g — () WA WA Hiefau Aede R
(77) 3IATREIA 3Tk YIAE qU IO Feifodra.
(iii) USHHEE Tes TUSH UYAAAh] TRE.

1. Gt 9=l Ucdehl 100 vISd S fo@l (el 9r) [20]
(/) FH AT GhodT TR AL
(7)) TSI Il HehodUdl TS HLL

(7i7) TehR ToUoAIda <9 T &

(iv) ToUA a9 wEEl W &

(v) SAE=Ar=A 9RUe Tgdl 0% .

(vi) SIfdeh SAUR Hee=] 3Ifesl T &

[6301]-1016 6



2. Wi Y3l Yt 200 Y Sl fael (Hivdel @F) [20]
(1) TdRIr=Al AR JWUIHEE=Al SUR—ISHT T52 R
(77) & 2009 URAH Il STEE-fEid HRO TS &

(ir7) Fo1 fod qREca= "9d W FwJ

(iv) SINfdeh AR FEeA=l YRAE Idl 9id RO Tqse .

3. TEd YR 400 ¥&EM W ARl (FUER k) [20]
(1) eRasdE JEY T F

(i) THIEl SR ST IUHASHT T .

4. 9w foo fag (doE =) [20]
(1) et AT T
(i TR enfdsw &= (J=0)
(fii) Tddid WHE 92 AU
(7v) TAESE  THR
(v) meme
(vi) TSEE U0 JSFR BHT IS

[6301]-1016 7



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [53011-1017

F.Y. B.A. EXAMINATION, 2018
POLITICAL SCIENCE
(Optional)
[G-1 : Modern Indian Political Thought]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1)  Write Mahatma Gandhi’s views on Ahimsa.
(i1) Explain Dr. Ambedkar’s theory of Social Democracy.
(7i1) Discuss Justice Ranade’s Liberalism.
(iv) Explain V.D. Savarkar’s role on Religion.
(v)  Explain Mahatma Phule’s views on Radical Liberalism.
(vi) Explain Radical Humanism of M.N. Roy.

P.T.O.



[6301]-1017

2. Attempt any ¢wo questions (in 200 words each) : [20]
(1) Mahatma Phule’s thought on emancipation of Shudratishudra
and Women.
(i) Explain Abul Kalam Azad’s theory of Nationalism.
(7i7) Discuss V.D. Savarkar’s Hindu Nationalism.
(iv) Explain Mahatma Gandhi’s views on Sarvodaya.
3. Attempt any one question (400 words) : [20]
(/)  Discuss Justice Ranade’s views on Social Reforms.
(zi) Explain Lokmanya Tilak’s views on Swarajya.
4. Write short notes on (any four) : [20]
()  Dr. Ambedkar’s State Socialism
(i) Understanding of Marxism by M.N. Roy
(/i) Mahatma Gandhi’s views on Western Culture
(iv) Abul Kalam Azad’s opinion on Pan Islamism
(v)  Savarkar’s critique on British Rule in India
(vi) Justice Ranade’s Economical Thought.



(WS T UIT)
9% : A9 A THUT T : 80
ol — () Wd WA Hiefau Tevde k.
(77) 3AREA T Ui U SEifaam.
(7i) USHHE T TUSH UYAAAh] TRE.

1. Wiy HI0aE = 999 dedl (Tt 100 V<) : [20]

(7)) W Tde Afgafasae fa=m @

(i5) S STdsHhidl HMHISH dhemer fagid T &

(1) =4 qAS = GG CIHEERED faamr=l == &

(iv) faz. gawu=t gHfasmes e T &

(v) W TReddl HeH I[/RAGER W H.

(vi) TAGA. T I9 FermHl HHedeRe  faur .

2. TElcde! HIUGE &M Y Wedl (YdE! 200 V) [20]
() ¥ Tod YERE o HAfgar=a S-diauds foear s &

(7)) I HAM ST Lo foga e &
(7i)) T3 weReT=r fegusare= ==

(iv) W ™ Yaicaiaude foar e &

[6301]-1017 3 P.T.O.



3. Wiicish! HIvEEl Teh Y9 Weal (400 V@) : [20]

(7)) T qASAl IS UROnfaeEe  foem=l ==l @

(7)) <RH feoha TSAfguEs foaR W &

4. dgedd four fa@ (FodE 9wR) [20]

(7)) Sl TdeHy=El T HHSER

({) THEE. U I HEHdR™  Ahed

(ffi) T. T URE GRdenedd foEr

(7v) g &AM TG I& U9 IEHEOEER A

(v) HERTE YvRAda fofesr e 2ieh

(vi) . TAew omfeder fomm.

[6301]-1017 4
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(G-1 : Indian Government and Politics)
Time : Three Hours Maximum Marks : 80
N.B. — (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1)  Discuss making of Constitution.
(i7) Explain the social directive principles in Indian Constitution.
(7i1) Write the structure and functions of Central Finance Commission.
(iv) Explain the structure of Vidhan Parishad.
(v)  Discuss the role of caste in Politics.

(vi) Explain the role of regional political parties in coalition politics.

2. Attempt any t¢wo questions (in 200 words each) : [20]
(1)  Explain the philosophy of preamble of Indian Constitution.
(i71) Write the fundamental duties of Indian -citizens.
(i) Explain the role of religion in Indian Politics.

(iv) Discuss the causes of rise of regional parties.

[6301]-1017 5 P.T.O.



3. Attempt any one question (400 words) : [20]
(1) Explain the salient features of Indian Constitution.

(zi)  Explain the election, power and functions of President of India.

4. Write short notes on (any four) : [20]
(1) Right to Freedom of Religion
(i)  Principle of Collective Responsibility
(7i1) Position of Chief Minister
(iv) Speaker of Lok Sabha
(v)  Regional Imbalance in Development

(vi) dJudicial Review.

(A wWUia)
9% : 9 a™ THUT TOT : 80

g — () Wd WA Hiefaul ofevde R
(77) ISEhErd ok qu IO geifedm.
(7i) USHHEE Tes TUSH UYAUAR] TRE.

1. eyl Hode SR 99T digdl (T 100 TEE) [20]
()  TEEeAEn ffHd—== w.
(77) YRAE TSIEEAdid WS ANGRe dc T &l
(777) wfsa fod @R @A 9 S FE

[6301]-1017 6




(7v) faumaioe=l A o w3
(v) USThROMdIA = fHee 9.

(vi) STETSIT= USROG af¥reh e yfieh wose &

2. TEicUsh! HUE &M U Weal (YIH! 200 IEE) [20]
() IRAE [T = S doe T &
(7)) HRAE AN JAYd Saed  |HT.
(iif) YRAE TSRO gaf=i  qfHeT e &
(iv) Wefiieh q&=al SeArl hRu H.

3. TEadsh! IR Ueh U Greal (TAH! 400 IE[) [20]
(/) YR TEedl Afite T &L
(77) Usgudrel fraevesw, sAfyer 9 @ e w

4. dgedd foar foa@ (FodE 9wR) [20]
(1) e Tl SR

[al

(77) HHfeHh SeTeRRIA T
(ii) HSAHA™ TN

(fv) CHETET HUTId

(v) foshmErdier gefies  stemde

(X AN

(vi) —ARTCTEH YA,

[6301]-1017 7



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [53011-1018

F.Y. B.A. EXAMINATION, 2018
HISTORY
[G-1 : Chhatrapati Shivaji and His Times (1630-1707)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the Sanskrit sources of Maratha History.
(zi) Explain the concept of ‘Bhakti’.
(i) Explain Chhatrapati Sambhaji-Akbar relations.

(iv)  Write the contribution of Dhanaji Jadhav in Maratha War of

Independence.
(v)  Explain the religious policy of Chhatrapati Shivaji.

(vi) Write types of forts.

P.T.O.



2. Answer the following questions in 200 words each (any two) : [20]
(1)  Describe Persian sources in brief.
(if) Write the features of Council of Ministers. (Ashtapradhan).
(irf) Write the achievements of Chhatrapati Rajaram Maharaj.

(iv) Explain the land revenue system of Chhatrapati Shivaji’s

reign.

3. Answer any one of the following questions in 400 words : [20]
(1)  Explain Chhatrapati Shivaji-Mughal relations.

(i) Give an account on social life of Chhatrapati Shivaji’s

period.
4. Write short notes on (any four) : [20]
(1) Mansab

(i7) Chhatrapati Sambhaji-Portuguese relations

(iri) Chhatrapati Sambhaji-Siddi conflicts

(iv) Adnyapatra

(v)  Currency system of Chhatrapati Shivaji’s period

(vi) Temple architecture.

[6301]-1018 2



(TS ®UIM)
q% : i q™ THUT TUT : 80

ol — (/) WA WA Giefau Sfevdd .
(77) ISEIherd 3k YA qU T gEifodm.

(7i7) HSHEISt Yov TUSH WIAUMART TRrE.

1. Teid Y9l S s 100 Y5 fa@r (Rivde =m) [20]

(/) AUSHTAl el WEhd WiEH TR &

(7)) ‘YRt HhoUdl T R

(7if) BAYA HUS-3AFHeL T T H.

(7v) TE @WAA SHd At SHae areH  fosr

(v) o99dl ferarsl mereme afife o/ T &

(vi) Tohecw= gwr fa=r

2. WA Y3l W gt 200 Vs fagl (Hivdel dF) [20]
(7)) THRE YA gieedd 9uia .
(i) STeYYM Heot afyrey fo@n

(7if) BAYA TINH HeRST=T S feo@r

(iv) Treheid SHA #Aegd dsdl W w0

[6301]-1018 3 P.T.O.



3. Weiiciishl SR TRl U IW 400 V=W foral [20]
(1) TAdl REsl 78RS 9 6 ey T 6

(i7) Terowr g SoAmn sTeEr =

4. dJedd fou fo@ (R |amw) [20]

() HIGd

() SAGA FHSH-UIGIS qEY
(7if) SAd gsi-faer gud

(iv) A9

(v) TEese =oH

(vi) Toaeres #\fer Tmaed |

[6301]-1018 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [53011-1019

F.Y. B.A. EXAMINATION, 2018
ANTHROPOLOGY
[G-1 : Introduction to Social and Cultural Anthropology]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]
(1) Write the various uses of Anthropology.
(i) State the functions of Headman among the tribes.
(1ii) Write down the characteristics of Joint family.
(iv» What are the uses of white magic ?
(v)  Explain the elements of culture.

(vi) What is the concept of property ?

P.T.O.



2. Answer any two of the following questions in 200 words each : [20]
(1) Explain the characteristics of culture.
(zi) Explain the features of law among the Adivasis.
(fi11) Describe the types of kin.

(1v) Describe the four stages to tribal economy.

3. Answer any one of the following questions in 400 words each : [20]

(1)  What is Anthropology ? Describe the relationship of anthropology

with other sciences.

(i) What is Religion ? Describe the various theories of origin

of Religion.

4. Write short notes on any four of the following : [20]
(1)  Cultural lag
(i7) Homoerectus
(7i1) Divorce in Tribals
(iv) Shifting cultivation
(v)  Taboo

(vi) Cauvade.

[6301]-1019 2



(TS wTeR)
9@ : dF A THUT TOT : 80
el — (1) Wd WA AU Sewed SR
(7)) SoEREA % qul T geifad.
(7i) USHHE T TUSH UYAUAh] TRE.

1. Teld RER \R YEEEl W YO 100 veEiadd fown [20]
(7) WHAERTErE fafay SwEm edewr fomn
(i) onfcardl wefle umyHeErEt wE - fomE
(fi7) TIF FHardr afersewr @

(7v) Uiedl WgA STEN &E Sed ?

(v) T&HdE ek T A

(vi) WUcdi=l HhoUdl w1 AR ?

2. Wefiad HIUARI S YeET 3w YS! 200 IeEda fomr [20]
(/) TEpdt ARt T @A
(77) oTfardt wEeErEr AfTssl TR H.
(7i7) SHIHE TR TR H.

(fv) ofifcardt Afogoxd=n 9 S/ 9uid .

[6301]-1019 3 P.T.O.



3. Weiid SR Tl Y™ S 400 I=idd foer [20]

(7)) HEOIRMSE WS %™ ? ATl 30 IMEET AHAe Tey fave
.

(i) 9" WIS & ? ¥4 IdAcem fafay fag@a 9o .

4, ARl HIUERI IR diedd few famr [20]
(/) TEhdl AR

NN N

(i7) TMHREEREH A

(i) STiCarel wHfie  seEhe
(iv) Tefadd 2l

(v) oSt

(vi) EEIEfedI.

[6301]-1019 4



Total No. of Questions—4] [Total No. of Printed Pages—4

o [5301]-1020
F.Y. B.A. EXAMINATION, 2018
GEOGRAPHY (G-1)
[Gg.-110 : Elements of Geomorphologyl]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.
(i7i) Draw neat diagrams wherever necessary.
(1v) Use of map stencil is allowed.
1. Answer in 20 words each (any ten) : [20]

(1)  Define Physical Geography.

(1) What is Latitude ?

(7171) What is international date line ?

(ivy  What is ‘Moho discontinuity’ ?

(v» Who and when introduce the continental drift theory ?

(vi) Define igneous rock.

(viy What is fault ?

P.T.O.



(vizi) What is Biological weathering ?
(ix) What is landslide ?

(x) Define convex slope.

(x1) What is mass-wasting ?

(xif) Define watershed.

(x111) Write any two geographical features which are surrounded by

your area.

2. Answer in 50 words each (any ¢wo) : [10]
(1)  Scope of geomorphology.
(i) Write the properties of sedimentary rock.
(i11) Hydrological cycle.

(iv) Terraced and rectilinear slope.

3. Answer in 150 words each (any two) : [20]
(1)  Describe the shape and size of the earth.
(if) Write the evidences of Wegner’s continental drift theory.
(irf) Write in detail mechanical weathering.

(iv) Explain the soil degradation.

[5301]-1020 2



4. Answer in 300 words each (any ¢wo) : [30]

(1) Explain the interior of the Earth with diagram.
(i) Write in detail the folding.
(i) Describe the depositional landforms of river with diagram.
(i7v) Elaborate the application of applied geomorphology in landuse
and mining.
(W& wUTE)
9@ : dF A THUT T : 80
gl — () Wd WA defau oAeavas aed.
(77) 3IATREIA 3T Ul U SRIfaam.
(iif) SAEIh dA Ak AThdl  HIal
(7v) RN RiEa aR0IE G 3.
(v) UcHEES Tos TUSH UYAUAh] TREl.
1. YRl 20 V= SR ARl (RIOCE @) o [20]
(7)) UIhfdeh o=t e fagl.
(i) YT WIS HEF  ?
({7) AT TN WIS wF 2
(7v) ‘HeE oo’ =S wE ?
(v) WEeded fagm ot a &t ween ?
(vi) AT et e forel
(vil) TERET WUS 6 ?
(vifp) Sffask foeRo wust & ?

[6301]-1020

3 P.T.O.



(ix) YHYM WS ®E ?

(x) dfgdsh IANET aredr forer

(x) Towga 9 =oe & ?

(xi7) WU & SATe fom
(x77i) STUCAT e TR SR g Sriifas a1 foar.

2. YIS 50 V=M Sk ol (FUE @d) e [10]

(/) Y EURTSE S

(i) Saea @eh TuEd  foEn
(111) SIeTdsh

(iv) UEAMEAET 9 W Y@l Sal.

3. YAPl 150 V=M I for@l (FE @F) [20]
(/) YeA=l AR d Ahdd auiA h.

(i) A EEasd f9gae g fom

(iif) HIIeh Tagror HfowX forsl.

(/v) YeRM Hia& T

4. TS 300 V=id SW forl (HIORE |F) [30]
(7)) gEE FAAWT APdEE TR HA
(77) et wfaw wmfedt fer
(fi) T FEET HEHe HU R Y-AHR  STHANE T H.

(7v) ot SUASH 9 @R A1 foRdaren U EIRTEde STde faeg
.

[6301]-1020 4



Total No. of Questions—7+6+5] [Total No. of Printed Pages—4

Seat

No. [5301]-1021

F.Y. B.A. EXAMINATION, 2018
MUSIC (General-1)
i W (Si-1)
(2008 & 2013 3ITATHHH)
(A A T G WA, q9el, 9aR 9 ddehr quen fasaret
RIVTAE T Ut Tigdr,)

(IO Hifid TTEe)
9% : 1 @™ 30 fufe THIT o1 ¢ 20
ol — (i) ufgen we wiefou st e
(7)) ARG URAUHT HIUCE G FH THU AR YA e
(777) Fd U GAHI 5 A YA GHH U SR

1. A I HIERAIA RV Tkl WM Siedl S [Heaed/gaad]

WEH .

2,  Tced focmaa fehar e Al HIvE WeRt W= WfaaR Smeia Arfedt

3. UIUH! RIUAR Ukl diem=l dYv IS Wifedt G I o
(1) <=ae (Fame)
(2) SRl
(3) St S

4, GcAlddeh! hIUARl e e faer .

(1) <k
(2) Ts
3) [Ys X

P.T.O.



4) foga =R

(5) T WX
(6) HAAA TR
(7) dH

5. fow fagr [®om@E =)
(1) 3TRE-FARB-THhS
(2) R qaAT-ITA
3) T

6. Tou famr [wIvdEl TH] :
(1) M nfor |Hel Site
(2) AHEId

(8) TOU 9 W He

7. O IO SWIEHAGIA HIUAE Ukl Hiilaar = fosl.

[6301]-1021 2



[6301]-1021
(Faw)
9% : 1 am 30 fufe TRUT TOT = 20
o — (i) dfgen g diefau sAfar e
(7)) ARG YLAIH! HIOWR @ T THU TR T Grean
(i) FE ULTAAT Yhl 5 A YA FHM IO 3.

1. A I SAVIEGRA IR TRl IR SEH! T @Rfadieg .

2. I oA SAEHATI Shivcaral TeRT TN HYOl IS Hifed! felgd Wi
ferar.

3, dHa fohem RYaT ATURT HIUCATE Wehl dIcm=l Hifgd! oo dleieled .

4, fou fag (@R @M

(1 Hie

(2) SIHSH

(8) o

(4) IAeq-ugd
(5) 3™

5. A Il SAHSHANIA RIVAR Tehl Hilawre @rfifdes Arer fove .

6. eIl HIUTAEl Wehl fawamer dfowr famr :
(1) ga=n sfag™
(2) dmEE YER
(3) i Uereret Hftra

[6301]-1021 3 P.T.O.



[6301]-1021
GEKL)
9% : 1 am 30 fufe TRUT TOT = 20
ol — () ufgem yvd grefan sfer R
(77) 3JERA YIAUHT HOGE WE S TEHO R UXA Grea
(i) FE ULTAAT Yhl 5 A YA FHM IO 3.

3% THhUeld 9 guWerd fotal

2, Tra fofenr godqemmes <9 gee fomn

3. feur fomr (@U@t @]

(1) dd

(2) wEM YR

(3) Tl THYS U g
(4) foer

4, gAAUR! HIEE e fosEeR wfowR o
(1) dden =1 =reErEn g fomn
(2) ddeAT™ ol

5. IR TRl YUfHg deamEcs =fis foal

[6301]-1021 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-1022

F.Y. B.A. EXAMINATION, 2018
PUBLIC ADMINISTRATION
(G-1) : PRINCIPLES OF PUBLIC ADMINISTRATION
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(z)  Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words each) : [20]
(1) Meaning of Public Administration
(2) Liberal Democratic Approach
(3)  Principles of Hierarchy
(4)  Principles of Communication
(5) Importance of Training
(6) Staff Agencies

2. Attempt any ¢wo questinos of the following (in 200 words each) : [20]
(1) Importance of Bureaucracy
(2)  Presidential Chief Executive
(3) Importance of Budget

(4)  Principle of Decision-making

3. Attempt any one question of the following (in 400 words) : [20]
(1) Write the Bases of Departmentalization.

(2) Explain Budgetary process in India.
P.T.O.



4. Write short notes on (any four) : [20]

(1) Importance of Public Administration
(2)  Private Administration
(3)  Principle of Co-ordination
(4) Legislative Control over Public Administration
(6) Unity of Command
(6) Leadership
(AE wuiaR)
9% : 9 a™ THIT TOT : 80

o — () ¥ WA FEEAE Sed.

(i7) ISERSIS h YU IO SFIfodr.

1.  Tclicis! HIvE | Y9 dear (Y& 100 TE) [20]
(1) < yemeAmEr e
(2) ICRHJERT hIMEN TR
(3) SMYPRIETRRE T
(4) YaR™ ad
(5) wfaome HEd
(6) WIh 3R
2, Geliadsl HvHE &M e gredl (YAET 200 VIEM) [20]
(1) A RQEN A
(2) A U@ HATERR
(3) ORNYART HET
(4) ol faRo @
3. Woiads! HIvAE Teh U9 Gredl (400 IEM) [20]
(1) T ouR fom
(2) HRAIA TSR Uihar T

[6301]-1022 2



4, dieRE fow fag (FoERN =|9w) [20]
(1) < YA "o
(2) WAl 9ImEH

(8) U™ qd

(4) AHIIEAENA FES He™ I
(5) i
(6) Aga

[6301]-1022 3



Total No. of Questions—4] [Total No. of Printed Pages—3

o [5301]-1023
F.Y. B.A. EXAMINATION, 2018
PSYCHOLOGY
G-1 : General Psychology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(i17i) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
5)
(6)

Types of Neurons

Achievement Motivation

Theories of Eysenck

Components of Emotion

Concept of Intelligence Quotient (IQ)
Strategies of Problem Solving

2. Answer the following questions in 200 words each (any ftwo) : [20]

(1)
(2)
3)
(4)

(1)

(2)

Describe functions of Endocrine Glands
Describe types of conflicts
Explain the goals of Psychology

Describe the projective techniques

Answer the following questions in 400 words each (any one) : [20]

Define attention. Discuss the objective and subjective factors

of attention.

Define forgetting. Explain the causes of forgetting.
P.T.O.



4. Write short notes on (any four) : [20]
(1) Case study
(2)  Realistic Thinking
(3) Allport’s trait approach of personality
(4) Stages of scientific research
(5) Canon-Bard theories
(6) Sympathy

(TS wUIaR)
9@ : dF A THUT TOT : 80
el — (1) §d WA Gefau oeRds ST
(i) 3IAhele h qU U SFifadr.
(i) 3TEvIh A fohmfl gk Ther wIal.
(7v) TeUEE Yo TUST YYAUCAHR] TRIE.

1. Weliddsl HUEE aR Y9 W YdSl 100 Ve for@r [20]
(1) <dUe= YR
(2) HuEd Rom
(3) omEwEl fasi
(4) oI HEh

(5) FENIONH Hhel

6) THE uRERr= usd/dd

2, Wil HIAE M YA S YDl 200 V=@ forer [20]
(1) a5t Ut ®d 9uiF &
(2)  TOMEEYE YHR U H.
(3) HHUIMETET 44 T H.
(4) YEUU T TR HA

[6301]-1023 2



3. Weliiciie! HIVERI Tehl Y99 S 400 ¥ forer : [20]
(1) SEYFRT @ . A= a&ss d SAKTSS HedhrE =t
.
(2) foowom= =aren @ foaRome wRO W S

4, WAAUSR! HIUARE IR diedd fea fawr . [20]
(1) ERIRSIES
(2) arggarel  foamrufe

(3) iUl AlKHEITEE O g
(4) ST HINEETAS AR

(5) hTa-are fag

(6) R

[5301]-1023 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[56301]-1024

Time :

N.B. —

F.Y. B.A. EXAMINATION, 2018
GANDHIAN THOUGHT

G-1 : INTRODUCTION TO GANDHIAN THOUGHT

(2013 PATTERN)

Three Hours Maximum Marks : 80

(1)  All questions are compulsory.
(z)  Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :

(1)
(2)
3)
(4)
5)
(6)

[20]
Explain Gandhiji’s social aims of Education.
Explain Gandhiji’s Champaranya satyagraha.
State briefly Gandhiji’s idea of fearlessness.
Explain Gandhiji’'s idea of Non-cooperation.
Briefly illustrate Gandhiji’s idea of Ahimsa.
State the impact of Tolstoy on Gandhiji.

2. Answer the following questions in 200 words each (any Zwo) : [20]

(1)
(2)

3)
(4)

Explain briefly the seven social sins described by Gandbhiji.
Explain Gandhiji’s views on Classical Indian philosophy and
culture.

Explain the Gandhiji’s concept of ‘Ideal State’.

Describe briefly Gandhiji’s role as a political leader.

3. Answer the following questions in 400 words each (any one) : [20]

(1)
(2)

Bring out the characteristics of Ideal satyagrahi.
Bring out the importance of Gandhiji’s concept of Truth and

Non-violence.

P.T.O.



4. Write short notes on (any four) : [20]
(1) Gandhiji : An Active Philosopher
(2) Kheda Satyagraha
(3) Fasting : a way of Satyagraha
(4) Ruskin’s impact on Gandhiji
(5) Gandhiji’s concept of Sarvodaya
(6) Consistency between Thought and Action

(TS wUIaR)
9@ : dF A THUT TOT : 80
o c— () | WA diefan sTwEs o).
(77) 3S9Eiwel® Fh U U SFifodr.
(77/) TSUEE B TUSH WYAUTAHT TR,

1. @ed 9RE SW 100 vs[ forel (RIvdEl |w) [20]
(1) st fgom=h wmifses 28 T w1
(2) THAST=N FURTT TR AeHId IS .
(3) TS fAFa=t deheuT oiedd |
(4) THSTET CsTERER' B Heheddl TR H.
(5) TESie AfEE=R’ deheqw oeda favie &
(6) laeral MHSadd YHE T A

2,  Wefid gl SW 200 Y@ faw (HvE ) [20]
(1) RS SUF cholell WA WIS gRael e ==l .
(2) SF WRAE deRE MESadd g9 e H.
(3) ST ‘eTeel T @ Ghed N W H
(4) ‘Tw [SwE A’ G= B

[5301]-1024 2




3. Welld geE IW 400 VLM foRl (FIUER Teh) [20]
(1) oIy Fomwel afyre fave =4
(2) YS9 9 AfGH Goheudd Heed favie &

4, diegd few foer (HIUEE \w) [20]
(1) st @ TH FARia do
(2) WSl HAWE
(3) UMY : FAWEMET TH A
(4) ST T q9E
(5) TSt ‘HaEled' HeheuH
(6) TS : fomR Snfur Fdl AN wEEE

[5301]-1024 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No. [53011-1025
F.Y. B.A. EXAMINATION, 2018
YOGVIDYA ('m"Tl%IEIT) (General Paper—I)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(z1)  Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]
(1) Benefits of Tadasana
(if) Benefits of Anulom-Vilom Pranayam.

2. Write short notes on (any ¢wo) : [10]
(1)  Pratyahar
(i) Rajyoga
(1) Sarvangasan
(iv) Layayoga

3. Answer any two questions from the following in 200 to 250 words
each : [15]
(1)  Explain the importance of Kapalbhati Kriya.
(i) Explain the Mantrayoga.
(1ii) Write the importance of Aparigraha in human life.

4. Attempt any one question in detail : [10]
(1)  Give the definition and nature of yoga. Explain the importance

of Hathayoya in daily life.

(i) Write the types of Pranayama and explain its importance in

mental health.
P.T.O.



(W& wuiar)
q% : g q™ TeRUT TOT : 40
oAl — (1) §d W diefau TeRdd R
(i7) S9EHES Fh YU U Fifedr.
(777) WSHEE! He3 SUSH WYAALART UMl

1. Teldds! HIEE Tard 50 I TIHIBT Tl [5]
(7)) dEEANE WREE 9.

(i) Sdm-fadd JomEHE wEe 9.

2. drewn fom @ (FEE @9 [10]
(1) IERER
(i) TSI
(7i7) FarmEA
(7v) AN

3. WcdUsh! HIUEE S YTl Uil 200 o 250 VEid SalR @ : [15]
(1) HUEa9 fwI "™ @
(7)) TR T &4

(77)) STUfQRNE HAFEl Soddiad Hed WS &l

4, TIIAUH! DR TRl YW IfowR IR oIl [10]
(7) AN SR 9 WEY UiF gSArTe Hfed St el favie A
(7)) YUEHN YRR GF AF AHde AR Wed e &

[6301]-1025 2



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5301]-1026

F.Y. B.A. EXAMINATION, 2018

HISTORY OF CIVILIZATION-CULTURAL HISTORY OF

MAHARASHTRA (UPTO 13th CENTURY)
General Paper - 1
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. — (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) : [20]
(1)  State history and meaning of the word Maharashtra.

(i) What do you know about the Inamgaon ?
(1i7) Explain in brief about caste system.
(/v What do you know about Megalithic culture ?
(v Who was Chhatrap ?
(vi) Define the term civilization and elaborate on its scope.
2. Answer the following questions in 200 words each (any
two) : [20]
(1) Write the position of Shilahar dynasty in the history of
Maharashtra.

(i)  Describe the Marathi literary tradition with reference to Jyotish
Ratnamala, Lila Charitra, Vivek Sindu.

(1i1) Discuss the village life of medieval Maharashtra.

(1v)

Write a detailed note on fair and festivals of medieval Maharashtra.

P.T.O.



3. Answer the following questions in 400 words (any

one) : [20]

()  What do you know about proto-history ? Describe the salient
features of Daimabad, Nevase and Inamgaon cultures.

(i) Write a detailed note on Trade and Commerce of the Satavahan

period.

4. Write short notes on (any four) : [20]
(1)  Origin of Marathi language
(i71) Music in Maharashtra
(1i1) Position of Women
(iv) Megalithic Burials
(v Mahanubhav Sect

(vi) Temple in Maharashtra.

(TS BUTaR)
9% : A9 A THUT TOT : 80
ol — (1) W U Uefam seavds e
(i) ISAHES 3k UEA YU U Ieifaan.

1. Weftd Yol W Ydel 100 v fofer (ot | mw) [20]
(/) TeRmE A vegren Y smfor sfaer@ @i
(7)) TImma fawel gRen e Wfedl se ?
({77) WATeEge dreed 9o .
(7v) TETATONO GEhdlfawe qreen & Wifedt o ?
(v) &= I B ?
(v)) WAl a1 el AR hEd Al ATl ==

[6301]-1026 2




2. Wil YEl SW Y@@ 200 VM foel (Fvel |F) [20]
(1) "= sfdeddia FIaeR soae E - g fofer
(77) Sfa" I, oiets, faawmfdy=n deuid auel difscme ao .
(ji)) WA TN TWSied Heyld == .

(7v) THATNH TR Tor offor Icgardeyid afawr du fomn

3. Wid YN IW 500 v fofel (U@l Teh) [20]
() UHfieEERYd Rl &E Hifed! SR ? SEEER, Jedl, ST
I GEHArSA 3ok dfyTSead dU WA

(i) BRI MR Ao arfosg IR gfas) g forel

4, dieda foor fagr (R 9®) [20]
(7)) HUS Y9oEn 39T
() HENSIE T

(711) S T
({v) TR0 T
(v) TRYd 9y

(vi) TRNSMA Hik.

[6301]-1026 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-1027

F.Y. B.A. EXAMINATION, 2018
HOME ECONOMICS
G-1 : Household and General Economics
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
(zi) Diagrams must be drawn wherever necessary.

(1if) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) : [20]
(1)  Explain the functions of market mechanism.
(i7) Explain the law of supply with suitable example.
(i) Explain the functions of money.
(iv) Explain the sources of Human values.
(v)  Explain the merits of Home management.

(vi) Explain the role of human values in human life.

2. Answer the following questions in 200 words each (any
two) : [20]
(1) Explain the law of demand with suitable example.
(zi) Explain the basic economics problems.
(7i7) Explain the merits and demerits of decision-making.

(iv) Explain the process of home management.

P.T.O.



3. Answer the following questions in 400 words each (any
one) : [20]
(1)  Explain the primary and secondary functions of commercial

banks.

(i) Explain the elements of interior and exterior home decoration.

4. Write short notes on (any four) : [20]
(1)  Features of Economics Law
(if) Sources of family income
(i) Types of Human goals
(iv) Types of price elasticity of demand
(v)  Determinants of decision-making

(vi) Problems of poverty in India.

(W& wUiaR)
9% : 9 a™ THUT TOT : 80
ol — (1) WA U Grefau sevad e
(i) 3MEYIHR dY goh HAhA hlal.
(7i7) STERSIS 3k YA YU IO FEifodm.
(iv) HSHHEE TUST Y4l gerel.

1. Teld YeAEl W OUEwT 100 ¥R gl (RoE |w) [20]
(/) INRIFUET R TR
(7)) qESAEl TH¥H WEEl W HA.
(i) TETER wd TR F.
(fv) WHAS HeArd AN W
(v) TRHIMAN 01 T .

(vi) WHel Hedr=l HEel Sedriel Y T .

[6301]-1027 2



2. Wil YEl SW Y@@ 200 VM foel (Fvel |F) [20]
(67 I 151 i M e S A FS 0 A == LA R 8
(77) Hesyd oMfdh TTA TR HK
(7i)) ot FofEe oS T @

(/v) TEHGEANA Yfhdal T H

3. Teid YN SW YdE! 400 v fa@l (FivEl ) [20]
(/) AUR dAwH WAHE o gEH wE R HA

(7)) AT 9 Afgd [EESTERT  HEHh TR H.

4. deF@ feur fagr (@@ w9mw) [20]
(1 onfefer framm=n afvrsey
(i) IEfa® IO AR
(i) HHEl e YER
(7v) Trvien femq aEfawds YR

(v) onfdder fofera faeichs

(v) YRAa SIRGERET 9o

[6301]-1027 3



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat
No. [5301]-1028
F.Y. B.A. EXAMINATION, 2018
DEFENCE AND STRATEGIC STUDIES
D.S.G - 1(A) : Defence Mechanism of India
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) : [20]
()  What are the principles of intelligence ?
(i) What is the role of Border Security Force ?
(1) State the limitation of signals.
(iv) What is the role of Coast Guard ?
(v) State the role of A.S.C.
(vi) What are the characteristics of Artillery ?

2. Answer the following questions in 200 words each (any
two) : [20]
(1) Trace the growth of Indian Army since 1947.
(zi)  Explain the composition and functions of the Defence Committee

of the Cabinet.

(ir7i) What are the characteristics and role of Armored Corps ?
(iv) State the characteristics and limitations of Indian Air force.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Explain the principles of Defence Organisation.
(1)  What are the characteristics, role and limitations of the Indian
Navy ?
4. Write short notes on (any four) : [20]
() Army Command
(i) Characteristics of Engineers
(7i7) Chiefs of staff committee
(i7v)  Role of Infantry
(vv AM.C.
(vi) President.
(W& TUTaR)
9@ : dF A THUT TUT : 80

ol — (/) Wd U STEvad .

1.

(77) SERSlE 3Hk YA YU T geifedm.

gelid TRAE I Y@H 100 R[ faw (FUE |w) [20]
(7)) YelfavEe J{EET dwd IOl ?

(i) HM GIam Sl kM IO ?

(777) |9 TSN HARH EATL

(7v) TS&H AN KM hHIOC ?

(v) Uwuad. = %™ g

(vi) qREEE Al Fod 2

Gl WeAEl SW Ye! 200 V=M@ foel (e g) [20]
() 1947 URASAT YRAE YEA=A s SAr@ren e

(i) 3 AfHSEren WU AT WA 9 dE TR S

(ii7) Tooredl <amt dftmse 9 ®™ HOE ?

(7v) YR g coret afdmse 9 mafer @om.
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3. Told JEARET IW 400 V<[ fa@ (HI0EE TR) [20]
(/) TEHY GESTH dW W H.

(i) YRAE AEEEr 9, S F HIier o ?

4. diew[ foor fagr (SvEE 9wR) [20]
(7)) STl HHE
(7)) ENfPR o afirs
(i) STeAy iy
(7/v) URRe=l
(v) TUHEL
(vi) IS,

[6301]-1028 3 P.T.O.



[5301]-1028
D.S.G - 1(B) : Military Thinkers in 19th Century

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) : [20]
(1)  Explain Schlieffen plan.
(i1) Give Clausewitz’s concept of total war.
(111) Explain Moltke's concept of strategy.
(iv) Explain strategic thought of Marshal Foch.
(v)  According to Lenin what is revolutionary war ?

(vi) Explain strategic thought of A. H. Jomini.

2. Answer the following questions in 200 words each (any
two) [20]
(1)  Explain strategic thought of B. H. Liddle Hart.
(ii) State the thought of Che Guevara about Guerrilla Warfare.
(1ii) State Douhet's 'theory of air power.'
(iv) State the military thought of J.F.C. Fuller.

3. Answer the following questions in 400 words (any one) : [20]
(1)  Explain the thought of Mao Zedong regarding Guerrilla tactics.
(i7) Explain the Halford Mackinder's Heartland theory.

[5301]-1028 4



4. Write short notes on (any four) : [20]
(1)  Marshal Foch
(i) A. T. Mahan
(irf) General Douhet
(1v) Jomini
(v»  Lenin
(vi) H. V. Moltke.
(WS BqI)
9@ : dF A THUT 7T : 80

oAl — (/) | YT Hiefau AEavds R

1.

(i) SEhSlE 3k YA YU o geifed.

el JeAEl SW T&s! 100 [ foel (Fveel =\m) [20]
(1) TAI®RA A T B

(i7) SlSIfaeE ATl FeRY ST Fehoddl HETL

(7i7) Hicesh =t ﬂ@‘*ﬁ‘cﬁ_ﬁﬁ Thoddl TS HA.

(7v) URE ®E I 9Eke faearR ws w1

(v) <= Jd ®ifaerd J§ =Sl w2

(vi) U T O a9 oM faear oo &

Trellal gl 3w G&d! 200 V&M@ fa@l (HvdEl gF) [20]
(1) <. = fasa 3@ a9 gmiis faer s &

(7)) J-TEm A= AH geusdt fowt fomm @

(ii)) T A TAR TRl fagE@ @

(7v) . Th . HeR IY d&RA fgER GET

Teld It SW 400 Vi fof@l (FIVARI Tah) [20]
(H T Y = vHE sEvettaTEe foeR T @

(77) Hfe=et =1 wHyH fagia TR w

[6301]-1028 5 P.T.O.



4. g fow fa@r (HivE =@mw)
() Rl ®wE
(i/) T 3. HEH
(iif) SRA ee
(7v) A
(v) A

[5301]-1028 6
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(vi) TE. &I Hiedsh.
[5301]-1028

D.S.G - 1(C) : Post Cold War India's Security Environment

Time : Three Hours Maximum Marks : 80

N.B. — (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) : [20]
(1) Explain the concept of Globalization.
(i) What are the India's internal security challenges ?
(117) State the effects of deforestation.
(iv) What is counterterrorism ?
(v)  Explain the structure of NAFTA.
(vi) What is N.C.T.C. ?

2. Answer the following questions in 200 words each (any
two) : [20]
(1)  Describe the regional challenges of India's security.
(i7) Explain in detail the concept of human security.
(i) Explain the causes of terrorism.

(1v) Describe the structure and objectives of SAFTA.

3. Answer the following question in 400 words (any one) : [20]
(1)  What are the security challenges have create due to globalization

on post cold war period ?

(if) Describe the emergence of new world order.

[6301]-1028 7 P.T.O.



4. Write short notes on (any four) : [20]
(1) Nature of Globalization

(if) Counterinsurgency
(1) International Human Right Commission
(ivy New Trends of Terrorism

(v)  Objectives of world trade organisation
(vi) Structure of N.C.T.C.

(W& T UIR)
9@ : dF A THUT TUT : 80
oAl — (/) | U¥T Hiefau ofewds S
(i) SETRElE 3 YA YU IO Seifadm.
(ii7) WA @B TUSH ULAUlAHT TR

1. Geld Yol 3w Yde! 100 I[ el (fomd |m) [20]
(/)  SFfAehIRIom=  Hheadl T .
(77) HRAEAT AdA GREYEA TR HIU 2
(i) THEvieRo/STede aiom 9.
(fv) UficevdaRe wUs & ?
(v) ATl @A T HA
(vi) T & & . w=oS & ?

2. Teld YT SW UAH! 200 V@ faw (ke aF) [20]
(/) YRdE WEYE@ fauaria oem fave &3
(7)) TFel FREET Ghodudl FlOER T H
({77) TEIAARRT RO TR H.
(1'V)WWWWWW.

[5301]-1028 8



3. Teld YEAET SW 400 V[ fa@l (FIUAE WeR) [20]

(7)) TSR FIAGEM SAhIhoN e GRAYS DU Ao faior
el ?
(i) Afad SFfae Hewd=n 3I|d v &4
4, diewE few fog (FU@EE W®) [20]
()  SIIdehIRioe &Y
(1) Gfafawd
(f77) AT THA TFF AN
(iv) TevaErE A Yol
(v) fova =R guea=t Sfesel
(vi) TAEIAE. =

[6301]-1028



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-1029

F.Y. B.A. EXAMINATION, 2018
SOCIAL WORK
(I) Social Reform Movements in India
(II) Introduction to Social Welfare & Social Services
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(zi) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [16]
State the reform movements for ensuring the rights of workers
in post-independence period.

Or
Highlight the work by Mahatma Phule for the Backward Classes.

2. Answer any one question in 500 words : [16]
Specify the history of social services in India in Pre-British
period.

Or
State the objectives and activities of Prarthana Sama;.

3. Answer any one question in 500 words : [16]
Describe the term Social Welfare and explain Welfare Services
meant for women.

P.T.O.



Or

Describe planned provisions for social services for Youth in India.

4. Answer any one question in 500 words : [16]
Describe ‘Gramdan movement’.

Or

Discuss specific social services for disadvantaged sections in society.

5. Write short notes on any two : [16]
(a) Sarvodaya Movement
(b) Mahatma Phule’s reform movement for farmers
(¢) Objectives of Ramkrishna Mission

(d) Concept of Social reconstruction.

(TS waiaw)
9@ : dF A THUT TOT : 80
ol c— (/) Wd WA Uefau oeREsd o
(i) 3IEAEle h YU U SFifadr.
(7i7) WSHEE! He3 IUSH WYAAGAeRT gl

1. edus! HRIAR Tl YIIE SW 500 @ forer [16]
AR HIAe AfGeA=al b Gad HI0aMe=al GURI dedesl fovr
h .
fepar

H | FH ANTEEIAEE] el YRR 2.
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2.  TYI@UH! HIVAR TeRT YIE IR 500 i@ foral [16]
fofewrqe resrdial @eIfSieh Fer=n 3fdee T .
ferar

AT gHTSET Sfesed 9 hid 9L

3. AU FIVAE Ul UM SW 500 &M@ fa@r : [16]
‘ISR ool Hohed T IO i F HigHIS! HHISie Hel T
fepar

4, YIAUR DIUAR THT YA IW 500 =@ o o [16]

UM Fodded Ui .

ferar

5. Yedus! ®URl gEerk dies feur fomr [16]

() Talga Foodes
(9) H. FHoE IdR-AEE] GURU Fods
(&) THEw ferE=h 3fese

(¥) UHifa® TRAA Hheddl.
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Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5301]-1030

F.Y. B.A. EXAMINATION, 2018
MATHEMATICAL STATISTICS
(Discrete Probability and Probability Distributions)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(zi) Figures to the right indicate full marks.
(7i1) Use of statistical tables and calculator is allowed.
(iv) Symbols have their usual meaning.

(v)  Graph paper will be supplied on request.

1. Attempt each of the following : [1 each]
(a) State whether each of the following statements is true or false :

(1)  Poisson distribution is always unimodal.
(i71) A function X : Q —» R is called as a random variable.

(i) A Bernoulli trail is a random experiment which has only

two outcomes.

(iv) In conditional distribution of X given Y = y. X is constant

and Y is a variable.

P.T.O.



(D)

[5301]-1030

Choose correct alternative in the following : [1 each]

(1)

(11)

(111)

If X > b (n, p) and EX) = 5/3, var(X) = 10/9, then

the value of g is :

A 173
B) 2/3
C) 16
(D) 5/6

If an unbiased coin is tossed once, then the two events

head and tail are :

(A) mutually exclusive

(B) exhaustive events

(C) equally likely

(D) all these (A), (B) and (C)

The classical approach to probability assumes that all possible

outcomes of an experiment are :
(A) independent

(B) dependent

(C) mutually exclusive

(D) equally likely
2



(iv) If X follows geometric (p) distribution taking values

1, 2,.... then :

(A) mean > variance
(B) mean < variance
(C) mean = variance

(D) mean = 2 variance

(C) Answer in brief : [2 each]

(1) State any two real life situations in which geometric

distribution can be applied.

(i) State the properties of joint distribution function of two-

dimensional discrete random variable.

(i) State the p.m.f. of negative binomial distribution. State
its mean and variance.
v I PA = PB) =1, show that P (A U B) = PA n B) = 1
2. Attempt any four of the following : [4x4=16]
(a) The probability that a contractor will get a plumbing contract
is 0.4 and the probability that he will not get an electric contract

is 0.7. If the probability of getting at least one contract is
0.6, what is the probability that he will get : (7) both the

contracts and (7i) exactly one contract.

[6301]-1030 3 P.T.O.



(b) Let (X, Y) be a discrete bivariate r.v. with the following joint

p.m.f :

0 1 2 3

0 k 3k 2k 4k

1 2k 6k 4k 8k

2 3k 9k 6k 12k

() Find k£ (i) Are X and Y independent ?

(¢ Show that all cumulants of Poisson distribution are equal to

the parameter m.

(d) Define mutual independence of three events and pairwise

independence of three events.
(e)  Explain classical definition of probability and state its limitations.

(/)  Define geometric distribution. Hence derive M.G.F. of geometric

(p) distribution.
3. Attempt any four of the following : [4x4=16]

(a) A box of 20 mangoes contains 4 bad mangoes. Two mangoes
are drawn at random without replacement from this box. Obtain
the probability distribution of the number of bad mangoes in

the sample.
[6301]-1030 4



(b)  Suppose X follows binomial distribution with parameters n and

P. Find probability distribution of Y = n — X.

(¢c) A random variable X has the following probability distribution :

X 1 2 3 4 5 6 7

P (X) 3k 3k bk 17k 9% 11k 13k

() Find k£ (i) Find probability distribution of W = X —
1 and Y = 3X + 2

(d) For two discrete random variables (X, Y) ; var (X) = var(Y)

= 1, cov(X, Y) = 0.5.

X+5 Y—GJ
2 3

Find (/) var (3X — 4Y) (i) corr (

(@ Let X — Poisson (m) such that P(X = 2) =>P(X = 1). Find
P X = 0) and the most probable value of X.

(f/ A die has the following probability assignment to the six faces
Q =11, 2,...6} with P(1) = 0.1; P(2) = 0.2; (P)3 = 0.3;
P4) = 0.25; P(5) = 0.1; P(6) = 0.05. What is the probability
of (/) an even number appears (i7) a number less than 4

appears ?
4. Attempt any ¢wo of the following : [2x8=16]
(a) State and prove Bayes’ theorem

(b) Suppose X and Y are two discrete r.v.s.

[6301]-1030 5 P.T.O.



Prove that :

(1) Var (&X + bY) = ZvarX) + Pva(Y) + 2ab covX, Y)

(7)) Var (aX - bY) = a?varX) + b2var(Y) — 2abconX, Y)
(¢) Define hypergeometric distribution. Find its mean and variance.

(d LetX — Unqy, p)and Y - bHny, p) and X and Y are independent.
Obtain the conditional probability distribution of X given

X + Y. Identify the distribution.
5. Attempt any one of the following : [1x16=16]

(a) (i) Bag I contains 6 blue and 4 red balls. Bag Il contains
2 blue and 6 red balls. Bag III contains 1 blue and 8

red balls.

(I) A bag is chosen at random; a ball is drawn randomly
from this bag. It turns out to be blue. Find the

probability that bag I was chosen.

(II) A bag is chosen at random; two balls are drawn without
replacement from this bag. Both the balls were blue.

Find the probability that bag II was chosen. [6]

(1) State and prove binomial approximation to a hypergeometric

distribution. [10]

[5301]-1030 6



(b) (i)  For the following joint p.m.f. of (X, Y), find & and hence

compute : (I) Var (Y| X = 1)

D) cov (2X, 4Y)

X Y

-1 | 12k 15k 2k

1 7k 8k 12k [10]

(i) Suppose X; — P(m; = 1.2) for 7 = 1, 2, 3, 4 and X;

1

are independent of each other. If :
S = 2?:1X1'

find :

(I P(S=12),

(II) P(S > 3),

d1m P S - 2 < 2). [6]
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Total No. of Questions—6] [Total No. of Printed Pages—4

Seat

No. [5301]-1031

F.Y. B.A. EXAMINATION, 2018
OPTIONAL ENGLISH—I
[(Text : Interface (English Literature and Language)]
(General Paper 1)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer the following questions in about 70 words each (any
three) : [12]
(a) Comment on the central idea of ‘A Lesson My Father Taught
Me’.

(b) Why does R.K. Narayan call the American English as ‘Toasted
English’ ?

(¢ Explain the significance of the title “The Romance of a Busy
Broker’.

(d) Write a character sketch of Schatz in the story ‘A Day’s
Wait’.

(e) Briefly narrate the incident that upset Kalam’s father.

P.T.O.



2. (a)

Answer the following questions in about 70 words each

(any three) : [12]

(1) Discuss the theme of love in ‘Sonnet 29

(i7) How does ‘The World is Too Much With Us’ stress the
idea of going back to nature ?

(f17) Explain in your own words the significance of the title
of the poem ‘The Listeners’.

(1v) Write a note on the theme of humanity in the poem ‘No
Men are Foreign’.

(v) How does ‘The Listeners’ create an atmosphere of something

other-worldly ?

(b) Write short notes on the following (any {wo) : [6]
(1) Cultural Transmission of Language
(1) Duality of language stucture
(111) Aesthetic function of language
(1v) Expressive function of language.
3. Answer the following questions in about 100 words each (any
two) : [12]
(a) Do you agree that the story, ‘Upper Division Love’, is a hard
hitting comment on the Indian film indsutry ? Elaborate your
Views.

(b) Describe the effect of Nnaemeka’s marriage on his father
Okeke.

(¢) Explain the central idea of the story ‘Upper Division
Love’.

(d) How does Chinua Achebe explore the complexities of human

[6301]-1031

relationships in ‘Marriage is a Private Affair’ ?

2



two)

(a)

(D)

(o)

(d)

two)
(a)
(b)
(c)
(d)

6. (a)

(D)

[6301]-1031

Answer the following questions in about 100 words each (any

: [12]
Discuss the difficulty of choices suggested in the poem ‘The
Road Not Taken’.

How does the poem, ‘The Sun Rising’ deal with the theme
of true and timeless love ?

How does the peom, ‘The Mountain and The Squirrel’ show
that every creature is important ?

Explain the theme of discrimination and injustice as depicted

in ‘The Ballad of the Landlord’.

Answer the following questions in about 100 words each (any

: [12]
Discuss the role of the father in ‘Lithuania’.

Comment on the element of surprise in the play ‘Lithuania’.
Explain the title of the play ‘The Swan Song’.

How does the play ‘The Swan Song’ contrast the past glory

of Vasili Svietlovidoff and his present life ?

Write short notes in about 50 words each on (any one) : [4]
(1) Syntax : A study of sentence formation
(i1) Phonetics and Phonology.

(1) Identify the number of phonemes in the following words

(any two) [2]
(1) same
(2) bold
(3) get
(4) good.
3 P.T.O.



(71) Identify the structure of the following words in terms of
C and V (any four) : [4]
(1) fine
(2) up
(3) me
(4) rose
(5) ball
(6) street.
(711) Identify the vowels in the following words (any four) :
[4]
(1) cheer
(2) pet
(3) shine
(4) south
(5) hat
(6) bird.
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Total No. of Questions—4] [Total No. of Printed Pages—4

o [5301]-1033
F.Y. B.A. EXAMINATION, 2018
COMMERCE
G-1 : Organisation of Commerce
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.

(zi) Figures to the right indicate full marks.

1. Attempt the following questions in 50 words each (any fwo) : [10]
(1) Define the term ‘Business’.
(2) Give the meaning of ‘Retail Trade’.
(3) Define the term ‘Commerce’.

(4) What is marketing ?

2. Answer the following questions in 100 words each (any four) :[20]

(1) Explain the scope of commerce.

P.T.O.



(2) Explain the road transport.
(3) Explain modern concepts of marketing.
(4) Explain the concept of Buyer’s and Seller’s Market.
(6) Explain the service of wholeseller.
(6) Explain the concept of ‘Branding’.
3. Answer the following questions in 250 words each (any three) :[30]
(1) Explain the functions of money.
(2) Explain the elements of marketing.
(3) Explain the Internet advertising.
(4) Explain the functions of packaging.

(5) Write a short note on ‘Storage’.

4. Answer the following questions in 500 words (any one) : [20]

(1) What is Retail Trade ? Explain functions of Retail Trade.

(2) Explain the factors affecting selection of media.
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(TS TUIaR)
9@ : dF A THUT TOT : 80
ol — (1) §d WA Gefdu oAeRasd S
(i) ISAHEE Ik YO U SFifedm.
1. Ecliddsl YRl IW 50 ¥E[ foel (FUaE gF) [10]

(1) ‘=gaEE’ I "=t e |l

(2) ToRid =am=r=T 37 9.

(3) oIforsy I W= SATEAT WL

(4) fauom w=oN & ?

2. G YeEt 3w 100 vigid ferer (FIvEl | mw) [20]

(1) oSl sl WS .

(2) T dRqH Gl W OH

(3) TouoHmEn oMYfie Wehed W H.
(4) TRERET oTfor fashcai=l SNIRUS & 991 TS R

(5) W&o AIEAAT a1 TR HI.

6) fo=dd & 9 T &

3. i UeAET SW 250 Vi ol (FivE di|) [30]
(1) ot & TS @A
(2) foUTE™ Wed W H.
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(8) TS feUdianed IuH .

(4) YOS Sk T .
(5) T3 AR Hifedt fera
4, TEia YT IW 500 ¥&M foel (HIoAR Uew) [20]

(1) TP U BN &R ? fFhled AR wE W .

(2) Ifeqd wegw fAfaeiar 9iom oM oee T &L
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

o [5301]-1034
F.Y. B.A. EXAMINATION, 2018
G-1 : EDUCATION
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)

(11)
(117)
(iv)

(v)

(vi)

Write the objectives of Education given by Kothari Commission
(1966).

Write the importance of Health Education.

Explain the concept of Earn and Learn Scheme.

Write the social importance of Education.

What are the principles of Women’s Education stated by Mahatma
Phule ?

Write the limitations of observation method.

2. Answer the following questions in 200 words each (any two) : [20]

(1)

(11)

(111)

(1v)

What is introspection method ? Explain the limitations of
introspection method.

What is adult education ? Explain the importance of adult
education.

Describe the aims of education in ancient India.

What is family ? Describe the functions of family.
P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) What is Pre-primary education ? What are the problems in
Pre-primary education ? Suggest remedies to overcome these

problems.

(i) Explain in detail the educational thoughts of Maharshi Karve.

4. Write the following short notes in 50 words each (any four) :

[20]
(1)  Educational importance of Television
(i) Concept of Informal Education
(i) Importance of Value Education
(iv) Role of Newspaper in Education
(v)  Merits of Experimental method
(vi) Concept of ‘Education’.
(TS ®UIaR)
% : W q™ THUT TOT : 80
ol — (/) ¥ WA diefau seRds .
(i) S siw YOS o o e,
1. Eid geEl 3ak YO 100 VR foel (e | ) [20]

(1) IS HAEH (1966) Wifiiderelt fremom=h 3fggse ferm.
(77) ra fugome wea forn

(ff7) wHaT 9 TR AN - GhoUdl TR HAL

(iv) Toeomrer gmitses @@ o

(v) TR ol art St Rieofawas a@ & ?

(vi) & wud=n #afer o

[6301]-1034 2



2, Wefidl YISl Youst 200 VR foa@n (@vdel g ) e [20]
(7)) STACMOH TRHA WUS ®E 7 SAECRIGU UgHdeal "Ael W
H.
(1) U fau mue w72 Ui v e R w1
(fi)) I ARAA hledia frgor=l 28 e &L
(v) hed WIS & 7 FeArl B TR H

3. @ia JEAEl 3@ 400 VR @l (HOEE Wh) [20]
(/) 9d wiufhe foaw wos @@ ? gyd wiuthe  faomen wmen
HIUE ? W L RIS U =l
(i) wEH wd A= eiw four wfowR TR w7

4, Weitd YA@ 50 v dieda fear fem (v wmw) e [20]
(7)) e el dEd
(i) EESIITETI FeheHl
(ii)) oI Toeume #ge
(7v) geausren feronda  fie
(v) YHEIfh ggyde 0
(vi) ‘Toreqor’ Hehodwn

[6301]-1034 3 P.T.O.



[5301]-1034
G-1 : EDUCATION
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1)  Explain the concept of ‘Vishwabharati’.
(i) Write the objectives of primary education.
(1i7) Write the values envisaged in the Constitution of India.
(1v)  Write the limitations of Experimental Method.
(v»  Which objectives of education stated by Kothari Commission ?

(vi) Explain the role of education in economical development.

2. Answer the following questions in 200 words each (any two) : [20]
()  What is value education ? Explain the role of education to
inculcate values among students.
(zi) Explain the nature and limitations of Introspection method.
(i) Explain the role of radio in education.

(1v) Explain the educational philosophy of Mahatma Phule.

3. Answer the following questions in 400 words (any one) : [20]
() What are the reasons of stagnation and wastage in primary
education ? Give suggestions to stop stagnation and wastage.

(i)  What do you mean by formal and non-formal education ? Explain

the differences between formal and non-formal education.

[6301]-1034 4



4. Write short notes in 50 words each (any four) : [20]
(1)  Importance of family in the educational development of a child.
(zi) Importance of education in social development.
(7i7) Importance of value education.
(iv) Educational objectives stated by J.P. Naik.
(v)  Scope of Educational Psychology.

(vi) Nature of education in ancient India.

(W@ T UIT)
9@ : dF A THUT T : 80
ol — () "d WA defau eRdd AR
(77) STETRSIS 3k YA YU O SFifed.

1. Teid el IaR TSl 100 IRE el (FUdE 9wR) [20]
(/) fovauRdi=t ddeaT W &
() wafHew foeomrst sqfese fom.
(7i7) YRAE TG HeAq difaciet god femn
(/v) WA Ugden A foren
(v) SIBRI SN Wiffaole fRreomet 3gfese siot 2
(vi) ofeder foshrandial faromel ot wse .

2. Wele WEEEl ek TSl 200 VR faw (RURE €M) [20]
(7)) AT WS %wE ? fomeie qed wSfavad faomE gt
W FH

(77) STRRIE Ugde wWEY §E foen waikn W w6
(7ii) SATHIETE RIGUTda YHihT T 6.

(7v) TR SfE B 9 Ve dEeH T

[6301]-1034 5 P.T.O.



3. Gcadeh! IR Ueh UIAE SW 400 V&M fa@ [20]
(7)) WAt RGO €A F Toal=l RO ShIOGl 7 IO o TesH!
JISAfTUAEET  IIF .
(7)) =i 9 sEvEie g wmus ®E 2 sivaie 9 sHYEiE
foregoTdia W dieTeTu TR L

4, YI&H 50 V=@ deRE foo fam (FvmEd Ww) [20]
(7) garen Sefos faemK Fae Hed
(i) wHSe fasmE fagoma wee
(7ii) oI o #weo
(7v) S @ AR wiftaoer freomel sgfese
(v)  SeIforsh AR AT
(vi) UH YR foeome @wy

[6301]-1034 6



Total No. of Questions—5] [Total No. of Printed Pages—6

o [53011-1035
F.Y. B.A. EXAMINATION, 2018
MATHEMATICS
FMG-1 : Industrial Mathematics
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(zi) Figures to the right indicate full marks.
(7i1) Use of calculator is allowed.
1. Attempt any eight of the following : [16]
(a) Evaluate :
fim fﬂ?—zx—g
x— -1 x+1
(b If £fx) = (X + sinx) (x> + 5), find £7(0).
(¢) Draw the graphs of the following equations :
() 2x + 3y + 1 =0,
i y=1- x2
(d) Define marginal revenue and total cost.
1 2 4 -5
(e Find (A + B2 if A = } B = { }
-1 6 -2

P.T.O.



(f)

Evaluate :

n/2
_[ sin x cos x dx.
0

(g9 Draw the feasible region which is bounded by 2x + y < 2,
y<2x, x<y, x>0, y=>0.
(A) Define objective function in L.P.P.
(/)  State the commutative laws for matrix addition and matrix
multiplication.
(/) Find the critical points of :
vy = x* - 2x2 + 10.
2. Attempt any four of the following : [16]
(a) Discuss the continuity of the function Ax) at x = 2,
where :
X —4x
fx) = — "5 ;X # 2
= 8 ;0 x = 2
(b)  Evaluate the following limits :
. x-9
ORI s
(11) )lgno sin x - eixzﬂ).
) dy . er . (9f +7 )
(¢) Find Jx if y = 2 .
[6301]-1035 2



(d) Test to see whether the following functions are increasing,
decreasing or stationary at x = 1 :
() £ = 2x* + Tx — 10
(i) fx = e + x2 - Tx
(e) Find the relative extrema of the function :
fx = 2x* - 16x> + 32x% + 5.
(/4 Find the marginal and average functions of the total
function :
TC = 5Q2 + 4Q + 12.
Also, evaluate them at Q = 3.

3. Attempt any ¢wo of the following : [16]
(a) A producer has the possibility of discriminating between the
domestic and foreign markets for a product where the demands,
respectively, are :
Q; = 21 — 0.1P4
Qy = 50 — 0.4P,.
Total cost = 200 + 10Q where Q = Q; + Q9. What price
will the producer charge in order to maximize profit :
(/)  Without discrimination between markets and
(17) With discrimination between markets ?
(b) Given fx) = g(x) - h(x), where g(x) and A'(x) both exist,
prove that :
(x) = g¢x hx + gx H(x).
Also show that if Ax) = ah(x), then f(x) = ah'(x) where a

1S a constant.

[6301]-1035 3 P.T.O.



(¢) Use implicit differentiation to find %{/ for the functions :
(nH x5 = 100
i) & +xP=y
(i) (3% +55°) = X

4. Attempt any four of the following : [16]
(a) Let
4 5
-1 2 3
A = , B=]-2 -6
0 1 4
3 7

(/) Find AB and BA.
() Is AB = BA ?
(b)  Use Gaussian elimination method to solve the following system
of equations :
2x + 12y = 40
8x + 4y = 28.
(¢0 Evaluate :
Jz. Lz dx.
0 (x3 + 1)
(d) Find the integral

y:J‘ (X1/2 +3X—1/2) dx,

given that y = 0 when x = 0.

[5301]-1035 4



(e

Find the MR function associated with the following supply

function :
P=Q%2 + 2Q + 1.
Evaluate MR function at Q = 4 and Q = 10.

(/  Find the extreme points of the region bounded by the following
constraints :
2x + 3y < 15,
x < 6,
y < 4,
x>0, y=0.
Attempt any two of the following : [16]
(a) Solve the following LPP by graphical method :
Maximize : Z = 20x; + 10xy,
Subject to :
4x; + 3x9 < 48,
3x; + 5x9 < 60,
x; <9,
x; 2 0, xp 2 0.
(b) Faced with two distinct demand functions :

Q = 24 - 0.2P4, Q3 = 10 — 0.05P,
where TC = 35 + 40Q,
What price will the firm charge :
(1)  with discrimination ?

(77) without discrimination ?

[6301]-1035 5 P.T.O.
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Crazy Teddie’s sells 500 CDs, 600 cassettes and 300 CD players
each week. The selling price of CDs is ¥ 10, cassettes T 15
and CD players ¥ 2,000. The cost to the shop is ¥ 6 for
CD, ¥ 12 for a cassette and ¥ 1,500 for a CD player. Find
weekly profit by using :

(1)  total concept and

(i) per unit concept.



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No. [5301]-1036
F.Y. B.A. EXAMINATION, 2018
PHYSICAL EDUCATION
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(zi)  Figures to the right indicate full marks.
(i1f) Draw the diagrams wherever necessary.
1. Answer the following in 50 words (any ¢wo) : [5]

(1) Define Sports Medicine.
(2) Write scope of Physical Education.
(3) List out the skills in Kabaddi.

Answer the following in 100 words (any two) : [10]
(1) Importance of warming up in sports.
(2) Explain how physical education is important to health.

(3) How will you maintain play ground for tournaments ?

Answer the following in 200 to 250 words (any t¢wo) : [15]

(1) Explain recreational and modified sports.

(2)  What is Bio-Mechanics and state its importance in sports ?

(3)  Define Physical Education and explain the objectives of Physical
Education.

Answer the following in 500 words (any one) : [10]
(1) Draw a neat diagram of Kabaddi ground for men and explain
basic rules of Kabaddi.

(2) What is First-Aid ? Explain ‘PRICER’ therapy in detail.
P.T.O.



(TS wUIaR)
9% : . A" TRUT TOT : 40
oA — (1) Td WA Grefau eTeRdd  sied.
(77) ISERSIS ek O F(fordrd.
(iii) OIS d9 Goh AhAl il

1. Welid 99=1 50 veeid S fogr (Rivdel @F ) [05]
(1) hiel J9& vEmET are e

(2) IWNR® foeom=El =l e &
(3) <hISl A WIA hIRA= IR R

2, el YIAE 100 Visid S el (el @F) [10]
(1) 3ok BeEe™ B Hed  9r.
(2) TRIR® freome ARmar=n gfted wed |
(3) wien gfed TeEm oHaRdvE wE wUA 2

3. @ella gl 200 9 250 vEid SW fowl (FRUkE @F) [15]

(1) TARSHIHS 9 Yadid O@ RIS S& § W H.

(2) SIS RTS WUS && ? A Yoldid Hed W H.

(3) iR fogom=i =ren arE @ Sffe s #:9.

4, Eeid JEET 500 &M S TRl (SRl Teh) [10]

(1) oSl 91 T Ty T HSHE SThdl higd hagerd HAyd
foq T %

(2) YHITER WU %@ d WFE PRICER & Hfow® avd &
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5301]-1037

F.Y. B.A. EXAMINATION, 2018
MATHEMATICS
MG-1 : Algebra and Geometry
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(a) Let a b, ¢, € Z; a, b # 0. If alb and blc, then prove that
al e
(b) Let n € N. Prove that if n is odd, then n? — 1 is divisible
by 8.
(¢0 Find the remainder when x3 + x2 + x + 1 is divided by

x — 1.

1 2
(d) Find the rank of the following matrix A, where A = [5 10]

(e) Define equivalence relation on a non-empty set X.
(/i Find the direction cosines of the line whose direction ratios
are 1, 2, 2.

(¢) Define skew lines.
P.T.O.



(A) Find the distance of the point (1, 1, 1) from the plane
X+ 2y + 2z + 5 = 0.

(/) Find the centre and radius of the sphere x* + j2 + 2 —
2x + 4y + 6z + 5 = 0.

(/) Define a cone.

2. Attempt any four of the following : [16]
(a) List all integers x in the range 1 < x < 100 that satisfy
x = 7 (mod 17).
(b)  Find all elements of Zg that satisfy 2 = x
(¢) State and prove Euclid’s lemma.

(d) Find the eigen values and eigen vectors of the matrix A, where

-

(e) Solve the equation 2% — Tx2 + Tx — 2 = 0, given that the
two roots are reciprocals of each other.

(i = Prove that if (a, m) = (b, m) = 1, then (ab, m) = 1.

3. Attempt any two of the following : [16]
(a) Find g ¢ d ‘d of 7469 and 2464 and express it in the form

d = 7469 m + 2464 n, for some integers m and n.
(b)) Find a ged of fix) = x> — 2x2 + 6x — 5 and gx) =

2 - 2x + 1. Is ged of Ax) and g(x) unique ? Justify.
[6301]-1037 2



(o)

(a)

()

(o)

(d)

(e

(f)

[6301]-1037

Investigate for what values of A, the system of linear equations :
X+ yV+ z =26
x + 2y + 3z = 10;
X+ 2y + Az =9

have (1) no solution, (i) unique solution.

Attempt any four of the following : [16]

Obtain the equation of a plane in normal form.

Find the equation of the plane passing through the intersection

of the planes x + y + z = 6 and 2x + 3y + 42 + 5 = 0

and the point (1, 1, 1).

. x—1 y—2 z—3 x—2 y—3
Prove that the lines g = T3 = 4 and 3 = 3

z—4

5

are coplanar.
Prove that every equation of first degree in x, y, z represents

a plane.

. . . . -7 -6 5
Find the points at which the line XT = yT= ? cuts

thesphereX2+yz+22—2X+3y—5z—31=0.

Find the equation of the cone whose vertex is (1, 1, 2) and

}2

guiding curve is the ellipse §+ o= 1, z = 0.

3 P.T.O.



5. Attempt any ¢wo of the following : [16]

(a)

(0)

(o

[5301]-1037

Reduce the equation x2 + 4xy + j2 — 2x + 2y — 6 = 0 to
the standard form and name the conic.

Find the equation of the sphere passing through O (0, 0, 0),
A1, 1, 0, B(@1 0 1 and C (0, 1, 1).

Find the equation of the cylinder whose generators are parallel

to the line f = _—); = gZ and whose guiding curve is the

ellipse X2 + 2)/2 =1, z = 3.



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5301]-1038

F.Y. B.A. EXAMINATION, 2018
STATISTICAL PREREQUISITES
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(irf) Calculator and statistical tables are allowed.

(i7v) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following : [1 each]
(A) State whether each of the following statements is true or
false :
() Raw moments depend on change of scale.
(if) Variance may be negative.
(7i)) Mode = 3 median — 2 mean.

(iv) For symmetric distribution, v; > 0.

P.T.O.



(B) Choose the correct alternative : [1 each]

(1) If mean = 2, then first order central moment is .........

(a) O
(b 1
(o) 2

(d) None of the above

(i) For a mesokurtic curve, B, is .............

(a) 1
(b) 3
(¢ > 3
(d) < 3

(iii) We can find median graphically by using ...........

(a) Box plot

(b) Ogive curve

(¢) Histogram

(d) All of the above

[6301]-1038 2



(fv) The second central moment is ...............

(a) Mean
(b) Median
(¢) Mode

(d) Variance
(C) Answer in brief : [2 each]
(1) State any ¢wo merits of mean.
(zi) Define coefficient of determination.
(i) Define nominal scale with one illustration.

(iv) Find the mean of first 100 positive integers.

2. Attempt any four of the following : [4x4=16]
(A) Write a note on variable.
(B) If attributes A and B are independent, then show that :
(1 A, B
(1) o, B
are also independent.
(C) Write a note on “Base Shifting”.
(D) If two observations are 3 and 4, then verify the relation :
AM > GM > HM.
(E) The first three moments about 2 of a certain distribution are
2, 19 and -32 respectively. Find third central moment and

variance.

[6301]-1038 3 P.T.O.



(F)

3. Attempt any four of the following :

(A)
(B)
()

(D)

(E)

[6301]-1038

Draw histogram for the following

Class
0—5
5—10
10—15
15—20
20—25

Write a note on correlation.

frequency distribution :
Frequency

5

12

15

10

8

[4x4=16]

Explain the concept of error in regression.

If variance of a mesokurtic distribution is 10, then find 4th

central moment.
Define :
(1) Manifold classification

(1) Ultimate class frequency.

Calculate median from the following frequency distribution :

Class
1—5
6—10
11—15
16—20
21—25

Frequnecy
15
20
25
22
18



(F) Compute price index number for the year 2010 with 2009 as

base year using weighted average of price relative method from

the following data :

Commodity Price in 2009 Price in 2010 | Weights
A 10 12 30
B 8 9 50
C 25 30 20
4. Attempt any two of the following : [2x8=16]

(A) (1) Distinguish between SRSWOR and SRSWR.

[4]

(i) For moderately skewed distribution mode, median

and coefficient of skewness are 68, 80 and 0.42. Find

s.d.

[4]

(B) (i) Let 1000 candidates appeared in an examination, among

them 550 were boys. In all 700 candidates were passed

in this examination. Total number of passed boy candidates

was 300. Find the number of failed girl candidates. [4]

(if) Write a note on systematic sampling.

[6301]-1038

[4]

P.T.O.



(C) Compute mean deviation about median for the following

data : [8]
Marks No. of Students
0—20 10
20—40 16
40—60 34
60—80 26
80—100 14

(D) Compute Spearman’s rank correlation coefficient between X and

Y from the data given below : [8]
X Y
180 100
320 180
190 220
450 130
100 290
5. Attempt any one of the following : [1x16=16]

(a) (1) Explain the concept of central tendency. State the
characteristics of good statistical average. [8]
(i7) Examine the consistency of the following data : [8]
N = 10000, (A) = 1086, (B) = 286, (C) = 877,
(AB) = 135, (BC) = 143, (AC) = 338.

[6301]-1038 6
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(1)

(11)

(111)

Explain the least square method of fitting the exponential
curve of type Y = aX? [4]
Write a note on consumer price index number. [4]

Fit a second degree parabola to the data given below

by taking Y as a dependent variable : [8]
X Y
1 11
2 15
3 19
4 21
5 35
7



Total No. of Questions—4] [Total No. of Printed Pages—8

Seat

No. [5301]-1039

F.Y. B.A. EXAMINATION, 2018
LOGIC AND METHODOLOGY OF SCIENCE

G-1 : Introduction to Logic and Principles of Reasoning

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(zi) Figures to the right indicate full marks.

1. Answer any four in 100 words each : [20]
(1) Distinguish between a proposition and a sentence.
(2) State in brief the distribution of terms in A, E, I, O propositions.
(3) State the Rules of (a) Exportation and (b) Association.

(4) State all the figures of syllogism and state a valid mood of

each figure.

(56) Explain the difference between propositional variable and

propositional constant.

(6) Symbolize the following using the symbols given in brackets
(any five) :

(/)  Ram is tall and stout. (T, S)

(i) The tree is green but does not give shadow. (G, S)
P.T.O.



(1)
(2)

3)

[5301]-1039

(7i1) Raghav is either in Pune or if he is in Satara then

he will not attend the function. (P, S, A).

(iv) If the supply of silver ramains constant and the use

of silver increases then the price of silver rises. (S, U,

P).

(v) If you plant roses then your garden will bloom early

and if you plant asters then your garden will not bloom

early.

(R, E, A)

(vi) If and only if Anu is elected class President then either

Kamal is elected vice-President or Rahul is elected treasurer.

Answer any two of the following :

(A, K, R.)

[20]

What is a square of opposition ? Explain all forms of opposition.

State valid conversion and obversion of the following (any five) :

(1) All windows are open.
(i7) Some cars are not white.

(iii) No student is degree-holder.

(iv) Almost all questions are difficult.

(v» Every mango is sour.

(vi) Not all flowers are fresh.

Prove the invalidity of the following invalid arguments (any two) :

() A o B
C o8B

A > C



(4)

[5301]-1039

(11)

(111)

(1v)

(a)

(D)

A >B

AvD/. BvC
Z o A

Z v A/~ A

E v F)>(G . H
(G v H ol

~ E /o1

Decide with the help of truth table method whether the
following statement-forms are tautologous, contradictory

or contingency (any one) :

(0 [(p >2aq .pl Daq

() [(p 2@ .(@>0r] >G> p)

(i) ~ [(p . @ =( pl D>lp vaqg . (@ v p)l
Decide with the help of shorter truth-table or truth-tree
method whether the following statement-froms are
contradictory, contingencies or tautologies (any one) :

D [(pP>o>ad.To>pl>d>pE D2~ ad

(i ~[po>g vp.Pl>Mp . q v (p D 1)
3 P.T.O.



(1)

(2)

[5301]-1039

Answer any one of the following : [20]

Explain with an illustration the nature of the following fallacies

(any four) :

(1)  Composition

(i) Argumentum ad baculum
(11)) Ignoratio elenchi

(iv) Illicit major

(v)  Ambiguous middle

(vi) Accident

Prove the validity of the following (any four) either by using

Direct, Indirect or Conditional proof method :

(1) A>B
A v (C . D)
~B.~E/. C
2) A>B
C>D

AvC/. (A.B v (C.D)
@ T >@W .V

UvV)VoW/.T>W



4 Rv(S.~T1T
RvS)>@Uv~T/.T>U

b)) ~A/.A>DB

6) Z o A
Z v Al A
4. Write notes on (any four) : [20]

(1) Traditional classification of propositions.

(2)  Difference between deductive and inductive inferences.
(3) Any one type of Dilemma.

(4) Null set and Universal set.

(6) Formal nature of Logic

6) Indirect proof.
(WS BUieR)
9@ : dF A THUT TOT : 80
oAl — (/) Wd WA uefam oeREsd o
(i) IVERStE ik YU O SFiferr.
(777) TEAMEE B TUSH WeAUlAHT TR,

1. HIVIRI A= Yl 100 IeSid SW ol : [20]

(1) foum sufor aeEda e T &L
[5301]-1039 5 P.T.O.




(2)
3)
(4)
(5)

A, E, I, O fourrdiad 9g=l =A<l dresdnd 9.

Sfgao onftr wegeu fem formn

GO aRE el 31 Yo Apaiadiad Th Jb YR fomal
faum =R owfor faum o=R HHfild ®e W &

(6) HUE Tl fa aued J@a foure foweed &0 (Fode a=)
() | 39 M0 Fohe IR (T, S)

(i) ® wre fexd @@ W 9 wWeel <d L (G, S)
(7)) TEE TR YU TR fohdl A1 SR HAFAM 8d @ @ HrEbHAE
SYfEd W@UR - (P, S, A)

(7v) SR FRET qEel wEH Afeal MU SR ARHET a9 dedl &)
I feadt dreda (S, U, P).

(v) S Te e @ qEl 96 oeel Held ST ST
e T el SN e |HeUIR  ATEl (R, E, A).

(vi) S 31 ol eAs WU feaee el ® W TE Tk
FHAE B INAH B feea SEa fhar Wga @SR =uE

fasen SEa. (A, K, R).

2, HIUEE el IWOA [20]

(1)

(2)

[5301]-1039

faum foly <Rg wIN ®@? 9RURe faum faiu= 9d ger T

.

qea foum= g% 9Redd sufr gfqeds =0 (FivdiEl =)

(1)
(1)
(111)
(1v)
(v)
(vi)

Hd faewn e omRa.
FHR HERl 9o T ARG
ket foenefl uedtER AT
Tgdh YT IOES 3.
qdd |l Wl dedid ARG

6
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(3) Yed FH IFharret Agwal fag A (FHOAE S
() A D>OB
C o8B
~A>C
(i) A o B
CoD
Av D/ BvC
(i1 7Z o A
Z v A/~ A
/le. ~A o C
(v (E v F)> (G . H
(Gv H ol
~E /.1
(4) (3) TAA FHILHA TEAH [eid faaray dad: T, dad: 379
fpar Afafaerad T sRd o AT (HIUAE TeR)
(0 [p>q .pl>q
(7)) [(p>2q@ .(@>1r)] > ((C D p
(i) ~[p . q@ = pPlD>p vag .« v pl
(F) Y FIal Hed TG Teran Yo faurey ged: 99,
qaq: o9 frar Afafvsaan gom@e sea O @l (U
Teh) [20]
() [(p>o>qg.o>3$pl>pE>D2~49
() ~Mp>o>a vp.dlo>l.qdve>r]
3.  WHIUARE TRl T SW A [20]
(1) Teld dhede @EY HRETl W $U  (Hivde =)
(1) OHRIYE
(i) FAYfagfE qhar

7 P.T.O.



(i) TSI dhe
(1v) gfery Oegue
(v) 39Y W U

(vi) IAT=HH
(2) T IFearRi JHa TAe, svs fhar dufyes fagaen weRam
fas w0 (FE =w)
1) A>oB
A v (C. D
~B .~ E/. C
2 A >oB
C>o>D
AvC/. A.B v (C.D)

@ T >0 .V
UvV)oW/.T>W

4 R v (S .~T
Rv>S>Uv~T/.T>U

b)) ~A/+.A>B

6) 7Z oA
Z v Al.. A
4, HUER RIS AT A [20]

(1) fogmre 9RORe  afie

(2) wmEfAw  offor amfAe IiEaRra Wi
(3) IHITGIET HIVAEN Teh ThR

(4) T 9= onfon fava 4=

(5) THINMSAE ISR WY

6) Yy o
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-1040

F.Y. B.A. EXAMINATION, 2018
SOCIOLOGY
(G-1 : Introduction to Sociology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Characteristics of society
(2)  Social institutions
(3)  Characteristics of culture
(4) Types of social group
(6)  Social mobility

(6) Non-Government organisation.

2. Answer the following questions in 200 words each (any f¢wo) : [20]
(1) Explain the subject-matter of Sociology.
(2) Discuss the types of social control.
(3) Explain the factors of social change.

(4) Discuss the preconditions of social movement.

3. Answer the following questions in 400 words each (any one) : [20]
(1) Define Sociology. Explain the nature and scope of Sociology.
(2) Define socialization. Discuss the aims and agencies of

socialization.

P.T.O.



4. Write short notes on (any four) : [20]
(1) Reference group
(2) Elements of social structure
(3) Gender
(4) Conformity and deviance
(5) Characteristics of caste

(6) Sociology and social work.

(TS ®UIaR)
9@ : dF A THUT T : 80
gl — (1) |d Yy defdau ofewds o
(i) SERSl® 3k YU IO Feifodm.
(7ij) TSHMEIS! 3 TS WYAUCART Tl

1. w@od YeEE 100 v S foml (Fivael |mw) [20]
(1) wHEeTE dRs
(2) GRS G
(3) E&HdH iRl

(4) GHIN® HHEE YHR

(5)  H IS TTSTerd

(6) STWMEHT TEAT.

2. WO UEAEl Ul 200 V& W forw (ROWE qH) [20]
(1) FHSETETA AAEauaEaR =99 .
(2) UM fEE Y&R W &
(3) OIS UREGAE Hedh TR HA

(4) UHIS® Fesder=a qaste=l ==l .

[6301]-1040 2




3. O UYIAET 400 VKM SW el (FIOAE TeR) [20]

(1) TSRS A, @89 9 Al 95 H.

(2) MR ARl §RF Ao 3fese a el == .

4., deq@ four fagr (Fomg \m) 20]
(1) e
(2) WIS =T HIH
(3) femwmE
(4) AgFe swfur foeresd
(5) e oy

(6) HHNSEITE A0 GATSIRE.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-1041

F.Y. B.A. EXAMINATION, 2018
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper I
(Outline of Pre-history, Proto-history and Early History)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the periods of 'Indian History.'
(2) Name the Neolithic sites in India.
(3) Write in brief the Vedic literature.
(4) Explain the four noble truths in Buddhism.
(5) State in brief the achievements of Samudragupta.

(6) Write the importance of Satavahana dynasty.

2. Answer the following questions in 200 words each (any Zwo) : [20]
(1) What is Archaeology ? State the archaeological sources.
(2) Write the salient features of Chalcolithic age.
(3) Write the effects of Greek contact with ancient India.
(4) State the achievements of the Rashtrakutas.

P.T.O.



3. Answer the following questions in 400 words (any one). [20]
(1) Discuss the various types of Megalithic Burials.
(2) Write an essay on the history of the Kushanas.

4. Write short notes on (any four) : [20]
(1) Neolithic period
(2) Copper plate
(3) dJorwe culture
(4) Concept of Mahajanapada
(5) Chandragupta Maurya
(6) Pallava-Chalukya conflict.

(W& T UIH)

9% : 9 a™ THUT TOT : 80
ol — (/) W U Hiefau ofewds  sied.
(i) SSEhEl® b YO O ERifer.

1. @eftad 9=l Yol 100 IR 3ak fael (IRl av) [20]
(1) ‘9rd= sfde@’ ar=n FeEs 9.
(2) YRAMA TEREGA e A™ S
(3) ‘dfcwr wfew’ desaa fomn
(4) dg vHda ‘SR AE T’ T w.
(5) TEIWE HENK e 9.

(6) Haded WY Hed foTal

2. Wefiadl el bl 200 VIS Sk foel (Fivel ) [20]
(1) TQUa©RTs |oS @ 7 A 9gd | e
(2) IS I Sk iR fera.
(3) WM YRAME=N e dushid qRomg o
(4) USIHE! HEORT HA.
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3. Wiid Y IW 400 I folel (FIUAEl Teh) [20]
(1) HeMeUiEg R fafay yermr == .
(2) e gfdeE AR few femn

4. GreEa foor fagr (FveE@ =ww) [20]
(1) ORI HES
(2) dEHUe
(3) S W&
(4) ‘meeHYR’ d HeheuH
(5) TSI«

(6) Uood-dIH .
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Total No. of Questions—5]

[Total No. of Printed Pages—6

[56301]-1042

Seat
No.
Time : Three
NB — (1)
(1)
(111)

(iv)

(v)

F.Y. B.A. EXAMINATION, 2018
STATISTICS
(Descriptive Statistics)
(2013 PATTERN)

Hours Maximum Marks : 80
All questions are compulsory.
Figures to the right indicate full marks.
Symbols and abbreviations have usual meanings.
Use of calculator and statistical table is allowed.

Graph paper will be provided on request.

1. Attempt each of the following :

(a)

State whether the following statements are true or

false :

(1)
(11)

(117)

(1v)

[4x1=4]
Index numbers are called as economic barometers.
Bowley’s coefficient of skewness is lies between
0 and 1.

Mean squared deviation about mean is always minimum.

Honesty is an example of an attribute.

P.T.O.



(0)

[6301]-1042

Choose the correct alternative : [4x1=4]

(1)

(11)

(1i1)

(1v)

If corr(X, Y) = -0.8, then corrX + 3, Y — 3) is :

(A)
(B)
()
(D)

0.8

0.16

-0.8

0.9

Box plot helps to judge the :

(A)
(B)
()
(D)
Sum
s
(A)
(B)
(C)
(D)

Central value
Spread
Symmetry
Correlation

of deviations of all observations about its mean

0
1
Minimum

Variance

Second central moment is equal to :

(A)
(B)
()
(D)

Mean
0

1

Variance



(¢0 Answer in brief : [4%2=8]
(1) Calculate AM. for a group of 10 observations if :
2(x; — 4) = 10.
(i) Define positive and negative correlation with one
illustration.
(i) If Y = 4X — 3 is the regression line with Y as independent
variable then state its regression coefficient.

(i/v) Define rank correlation.

2. Attempt any four of the following : [4x4=16]
(a) Define variance in case of ungrouped data. Explain the effect
of change of origin and scale on it.
(b)  What is measures of dispersion ? What are the characteristics
of good measure of dispersion ?
(¢) Find the missing frequency from the following data given that

the median is 230 :

Income Persons
0—100 15
100—200 18
200—300 —
300—400 16
400—500 8

(d) State and prove minimal property of mean square deviation.

[6301]-1042 3 P.T.O.
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(e)  Describe the function of Indian Statistical Institute (I.S.I.) in
India.
(/) Find 4th decile and 78th percentile for the following data :
Age No. of Students
10—12 5
12—14 22
14—16 40
16—18 30
18 & above 3
3. Attempt any four of the following : [4x4=16]
(a) With usual notations show that By > 1.
(b) For symmetrical distribution, with usual notations, show
that :
ZZ? = 2[11:12 + m{z].
(¢) Write a short note on stratified random sampling method.
(d) Show that for any discrete data S.D. > M.D. about mean.
(e) Construct box plot for the following data :
121, 115, 212, 116, 118, 81, 71.
(/i In a certain interview there were 126 candidates of which

70 were boys, 36 candidates were successful among them 20
were boys. Obtain the coefficient of association between success

in interview and attribute boy. Comment on your result.

4



4. Attempt any two of the following : [2x8=16]

(a)

()

(o)

(d)

[6301]-1042

(D) Define Karl Pearson’s coefficient of correlation (r) and
show that it lies between -1 and +1.
(i) Find rank correlation coefficient for the following

information of heights and weights of 7 persons :

Height Weight
64 71
62 66
65 64
68 68
71 75
70 72
72 80

(1) Suppose X, Y and Z are uncorrelated variables with
same S.D. (o). Obtain the correlation coefficient between
X +Y) and (Y + 2).

(7) Given X — 4Y = 8 and X — 16Y + 64 = 0 are the
two regression lines, find (}_(, 3_() and estimate Y for
X = 1.

Derive Spearman’s rank correlation coefficient in case of

without ties observations.

Fit a simple linear model of the type Y = a + bX + €, with

E(€) = 0 and Var(e) = o2 by least square method.

5 P.T.O.



5. Attempt any one of the following : [1x16=16]

(a)

(D)

[6301]-1042

(1)

(11)

(117)

(1)

(11)

(1i1)

Explain the effect of change of origin and scale on
correlation coefficient. [5]
Given the following information of prices of commodities

In two cities :

Mumbai Pune
Mean price 69 65
S.D. of price 2 3

Also given r = 0.8. Find most likely price of commodity
in Pune if price of commodity in Mumbai is given as

Rs. 75. [5]

Spearman’s rank correlation coefficient between X and

Y is 3 If sum of squares of differences between ranks

is 55, assuming that no rank is repeated, find the number
of pairs in the series. [6]
Calculate Fisher’s price and quantity index number for
the following data :

2 poqy = 1660, 2 pyg; = 1070, 2 piqy = 2070,

2 piq; = 1340. [5]
Find correlation coefficient (r) for the following
information :

n=10 2Xx =9, Xy =05 2Xx2 = 653, 232 = 595,
2 xy = 534. [5]
What is index number ? Describe the problems in the
construction of index numbers. [6]

6



Total No. of Questions—5] [Total No. of Printed Pages—3

o [5301]-1043
F.Y. B.A. EXAMINATION, 2018
APPLIED MATHEMATICS
AMG-1 : Calculus and Differential Equations
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(z)  Figures to the right indicate full marks.
1. Attempt any eight of the following : [16]
(a) State any ¢wo order axioms of real numbers.
(b) If Ixl < a, then prove that — a < x < a where a > 0.
(¢ Evaluate )}anrl_ Ii:zl.
(d) Find y,, if y = ¥ sin (x + 3).
(e) Discuss the continuity of Ax) = X%e; on R.
(/  Solve the differential equation Lo = .
dx Y

P.T.O.
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/2

(g0 Evaluate _([COS59d 6.
(A)  Show that (3 Xy2 ~ x2) dx + (3X2y - 6y2 — 1)dy = 0 is exact.
(1) Solve y = px + m, where P = %\’]
(/) Obtain the differential equation of y = aeX + be =X
2. Attempt any four of the following : [16]
(a) Determine the set A = {Ix ¢ R | 12x + 3| < 7}
(b)  Prove that }}f; fx) is unique, if it exists.
(¢) Find the value of C in Cauchy’s mean value theorem for
fx) = &% glx) = ¢X on [a, bl
(d) Evaluate lm x¥
(e)¢ Expand eX¥ in ascending powers of x — 1.
(/ If fx) and g(x) are continuous functions at x = a, then show
that £ + g is continuous at x = a.
3. Attempt any ¢wo of the following : [16]
(a) State and prove Lagrange’s mean value theorem. Find C in
LMVT for Ax) = log x on [1, el
(b) (1) Prove that labl = lal.lbl for all a, b, € R.

1

(i) Evaluate Lm E’ if it exists.

2



1

(¢ If y = tan 'x, then prove that

(1 + xz)ymz + 2(n + xy,,1 + nln + 1)y, = 0.
4. Attempt any four of the following : [16]

COS X
(1+sin x)(2 +sin x)

(a) Evaluate I

X +1
*+1

/2
(¢ Evaluate | sin®@cos0do.
0

dx.

(b) Evaluate J.

dy
(dd Solve —/ = xy + x + y + 1.

dx
2 dy
(e) Solve P4 — 5P + 6 = 0, where P = —/—.
dx
(§ Solve (x2 + 2 + 2% dx + 2ydy = O.
5. Attempt any ¢wo of the following : [16]

3x+2

(a) Evaluate J. 92+ 2xr1 dx.

dy 2x+ y+3

(b) Solve e = 2+ x+1°

(¢0 (1) Show that the family 2 = 4a(x + a) is self-orthogonal.
(i) Solve cos y cos px = sin y sin px + P\/;, where

a4y

P = dx

[6301]-1043 3



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5301]-1044

F.Y. B.A. EXAMINATION, 2018
APPLIED STATISTICS
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(z) Figures to the right indicate full marks.
(7i1) Use of statistical tables and scientific calculator is allowed.
(iv) Symbols have their usual meaning.

(v)  Graph papers will be provided on request.

1. Attempt each of the following :

(a9 State whether the following statements are true or

false : [1 each]
(1) For any data, mode is always unique.

(17) Standard deviation of salaries of 10 workers is %. 500.
If salaries of all the workers are doubled then standard
deviation of new set of salaries will also become double.

P.T.O.



(D)
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(1) Correlation coefficient cannot be negative.

(A)XB)
N

(iv) If attributes A and B are independent then = (AB).

Choose the correct alternative : [1 each]

(/) Harmonic mean of 3, 10, 5, 4, 8 1is :

A 5

(B) 5.96
(C) 496
(D)  5.06

(i7) Central moments are the moments about :
(A)  origin
(B) mean
(C) any value
(D) 10

(111) If Laspeyre’s and Paasche’s index numbers for year 2008
with respect to the base year 2000, are 130 and 120
respectively then the Fisher’s index number of 2008 with

respect to base year 2005 is :
(A) 12747

(B)  128.65



(C) 12519
(D) 12491

(iv) Is SRSWOR, probability of selecting any unit in the population

of size N at any draw for the sample of size n, is :

(A) no/N
(B) 1ln
(C) 1IN
(D) 1
(C) Answer in brief : [2x4=8]

(1) If mean and variance of X are 40 and 8 respectively

then find coefficient of variation of X

(i7) If for a certain data Qq = 200, Q9 = 315, and Bowley’s

coefficient of skewness, Sgp = — 0.65 then find Qg.

(i) Given : S.D. X) = 2, S.D. (Y) = 3, corr (X, Y) = 0.8.
If and U = — 2X, V = X/10 then find cov (U, V).

(iv) Discuss deflating of index numbers.
2. Attempt any four of the following : [4x4=16]
(a) Explain the procedure of stratified random sampling.

(b  First four raw moments for a frequency distribution are given
as 3, 10, 45, 312 respectively. Find second and fourth central

moments.

[6301]-1044 3 P.T.O.



(o

(d)

(e

(f)

(a)

(D)

[6301]-1044

Locate Pgr for the following data using less than ogive curve :

Score in
10-20 20-30 30-40 40-50 50-60

Aptitude Test

No of Students 5 30 45 8 7

The number of employees in a firm is 240. The number of
graduate employees is 140 and total number of males is 150.
The number of graduate males is 100. Find the coefficient
of association between the attributes ‘education’ and ‘gender’.

Interpret your result.

Explain the term ‘skewness’. Explain different types of skewness

using suitable diagrams.
The following data give number of enquiries for a cab on a day :

75, 90, 102, 124, 102, 108, 105, 103, 102, 108, 110, 110, 104,

105, 108, 105, 105, 103, 104, 105, 127

Present the above information using Stem and Leaf chart.

Answer any four of the following : [4x4=16]

Define arithmetic mean and discuss its any two merits and

demerits.

The following data give the number of hours of self study
recorded per week for 100 students :

4



Self Study No. of workers

(in hours per week)

4-6 4
6-8 12
8-10 40
10-12 25
12-14 12
14-16 7

Compute median for the above data.

(¢) (1)) What is ‘sampling’ ?
(zi) Explain the term ‘simple random sampling’.
(d) (i) What is kurtosis ?

(if) The second, third and fouth central moments of a distribution
are 10-24 and 48 respectively. Compute the measure of

kurtosis and comment on the result obtained.

(e)¢ Marks obtained in midterm examination by 12 students are

as given below :

65, 55, 78, 82, 95, 92, 74, 72, 69, 70, 72, 56
Compute

(1) Standard deviation,

(77) Coefficient of wvariation.

[6301]-1044 5 P.T.O.



(/)  The following table shows the electricity bill amount per month

recorded for 75 consumers :
Electricity bill Number of consumers

(per month in Rs.)

200-500 10
500-800 15
800-1100 28
1100-1400 12
1400-1700 6
1700-2000 4

Draw histogram for the above frequency distribution and determine
mode from it.

4. Attempt any ¢wo of the following : [2x8=16]
(a) (i) Define Spearman’s rank correlation coefficient. [4]

(i) The following table gives the height (X) and weight (Y)

of ten persons : [4]
X 169 | 165 [ 150 | 158 | 160 | 162 | 152 | 164 |155 | 159
In cm
Y 78 | 8 |56 |75 | 70| 8 [ 65 [68 |60 | 72
In kg

Compute the rank correlation coefficient between X and Y.

[6301]-1044 6



(0)

(D) What are index numbers ? Discuss their uses. (4]

()  Discuss any four problems in the construction of index

numbers. [4]
(¢) The price and quantities for year 2007 and 2012 of commodities
are as given in the table below : [8]
Year 2007 2012
Commodity Price(py) | Quantity(qy)| Price(p;) | Quantity(qg;)
A 30 35 25 48
B 25 25 20 45
C 20 30 18 25
D 25 36 20 35

(d)

[6301]-1044

Calculate price index number for year 2012 taking 2007 as

a base year using :

(1) Laspeyre’s formula

(7)) Paasche’s formula

(1)  (I) Define Karl Pearson’s coefficient of correlation. [2]
(IT) What is scatter diagram ? Mention its use. [2]

(i1) Explain the concept of regression and discuss its utility
by giving suitable illustrations. State an expression for
the line of regression of Y on X by the method of least
squares and give the interpretation of the parameters

involved. [4]
7 P.T.O.



5. Attempt any one of the following : [1x16]

(a)

()

[6301]-1044

(1)

(11)

(1)
(11)

(11)

Compute the correlation coefficient between X and Y from
the following data : n = 100, Xx; = 250, ZX? = 700,
Ty; = 120, zﬁ = 450, Ix; y; = 408.

Also find correlation coefficient between U = X + 5 and
vV = -2Y. [8]
Define :

(D Positive class frequency

(I) Order of the class

(ITI) Fundamental set of frequencies

(IV) Positive association between two attributes. [8]
What is residual plot ? Mention is use. [3]
The number of units sold (in thousands) of a certain
product recorded for five years are given below :[7]
Year (X) 1 2 3 4 5

No. of units

sold (Y) 5 15 23 30 38

Fit the curve Y = ab¥ to the above data. Using the
fitted curve, obtain the estimate of Y for the year 10.
Given :

N = 10000, (A) = 877, (B) = 1086, (C) = 286, (AB) =
338, (AC) = 143, (BC) = 135, ABC = 57.

Find (ABy), (ABC), (aBC), (ABV) & (a0 B y) from the
above data. [6]



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5301]-1045

F.Y. B.A. EXAMINATION, 2018
PHILOSOPHY
Gl : Introduction to Philosophy
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain ‘Philosophy as a way of life’.
(i7) Explain the concept of knowledge.
(i) What is ‘Rta’ ?
(iv) Explain ‘Duty’ as a basic concept of Western Ethics.
(vw What is argument ?
(vi) Explain ‘Vada’ as a method of philosophy.
2. Answer the following questions in 200 words each (any ¢wo) : [20]

()  What is the relation between art and morality ?
P.T.O.



(if) State the Nyaya concept of perception.
(i11) Discuss Buddhist understanding of reality.

(iv) Explain Hedonism and its types.

3. Answer any one of the following questions in 500 words : [20]
(1)  Define philosophy and explain all branches of philosophy.

(i) What is God ? Discuss the arguments for the existence of

God.

4. Write short notes on (any four) : [20]
(1) Kant’s concept of Goodwill
(77) Idealism
(1ii) Deductive argument
(iv) Varnasramadharma
(v» Reason as a source of knowledge

(vi) Beauty.

[6301]-1045 2



(TS BUiaw)

9@ @ dF A THUT TOT : 80
el — (1) §d WA defau oeRas ST
() SoEhEl® ik qul U SEifed.

(7ii) TRHES! Hed TUSHT YRAUART TRTEl.

1. Gl Y=l skl 100 vsSid Sl fa@l (FIvael 9Im) . [20]

(7)) ‘'do9E WUN SOHR]T TR &L

(7i5) ‘TA’ Hhoud T

(iif) ‘Hd' WIS &I ?

(iv) URErE Afqemeda wde’ @ Jayd Heeddl W

(v) IfReR =S %E?

(vi) doaHEl Th Igdl ®IH 'oR IG5l T .

2, Tefid et Y@l 200 VIR W foel (FIvhel | ) [20]
(7)) el ot At AN O™ wE SARed ?

(7)) ¥ <IEEA ‘Y’ @ HehoUdl WL

(fi7) AGr= TRqEHEHT  (TqEaLia)  STeheTe W .

(7v) HEar A FEarRr JhR TR 6.
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3. Wciadsh! HIVERI TRl Y 500 I S fa@l [20]

(/) dodH A HohoUyd=l ATl SHd dooldMr=AT Hd YRl T2 R

o

(7)) 3IIR WS HE? IZOAT ATKae fooed giwar=n ==t

.

4, gl A @ (PR |\w) [20]

(7)) Hicdl HqHH & THehed

(77)  heUAd]

~

(if7) TR feRierg

(iv) duigmmyd
(v) ISI-TI@= Th e

(vi) .
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Seat
No. [5301]-1046
F.Y. B.A. EXAMINATION, 2018
MATHEMATICAL PRE-REQUISITES
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(z) Figures to the right indicate full marks.
1. Attempt any ten of the following : [20]

(1) Solve the equations :
4 + y = 3, x —y = 1
(2) Find equilibrium price for :
Q, =10 - P, Q5 = -5 + 4P.
(3) Find the slope at x = 4 if y = x2 — 5x.

(4) Define marginal cost.

(5) Find marginal function at Q 3 if TR = 12Q - Q2.

(6) Find Zyy if z = X4y.

d
(7)  Evaluate 7‘; at x = 2 if y = 3x2 — 1.

(8) Evaluate :

lim (x"‘ —2x+ 4).

x—1

P.T.O.



d
(9) Given y = ax® + bx + ¢ find 7;/

(10) Define inflection point.

(11) Find slope and j~intercept if :
2x — 3y = —6.

(12) What is critical point ?

9 . dy
(13) If y = v# and u = 2x + 3, find e

2. Solve any two of the following : [10]

d
(1) Use product rule to find 7‘;/ if

y = @254 + 5) (855 - 8).
(2) Find the MR function if P = Q2 + 2Q + 1. Evaluate
at Q = 4.

6x—- 17
8x-5

d
(3) Use quotient rule to find 7‘1}; if y =

4 If z = Xzy‘3 + 354 + y4, then verify that Zyy = Zyy
3. Evaluate any ¢wo of the following : [20]
(1) Examine :
z=3x2 + 22 — xy — 4x — Ty + 12
for extreme values.
2)  Find A, AL J and yV at x = 3 if y = (56 - 0%
(3) Find the price elasticity of supply at P = 3, P = 5 if
Q - 15P + 3 = 0.

(4) Explain Lagrange’s method of undetermined multipliers.
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4. Attempt any two of the following : [30]

(1)

(2)

3)

(4)

[5301]-1046

The cost function is ¢ = 8x% + 6)2 — 2xy — 40x — 42y + 180.
Minimise this function and find optimal value at critical
point.

If z = x5 — Ixy — 3)/3, then find

Zs Zy, Zxo ZW ny’ ZyX

and evaluate at x = 1, y = -1.

Define product and quotient rules of derivative. Find 7‘;/ if

4%
1-3x

Maximise the functions TR = 32Q — Q2 and 7 = -Q2 + 11Q

— 24. Evaluate them at critical points.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [53011-1047

F.Y. B.A. EXAMINATION, 2018
FOUNDATION COURSE

(Restructuring)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

() Figures to the right indicate full marks.

1. Write answers of the following questions in 100 words each (any
four) : [20]

(1) Explain the importance of Religion.

(ii) State the work of Ramkrishna Mission.
(ii7) Explain how to do classification of science.
(i7v) Explain the concept of Globalization.

(v)  State the types of Democracy.

(vi) Give the information about Professional Values.

2. Write answers of the following questions in 200 words each (any
two) : [20]

(1) State the information about feminism movement in India.
(i1) State the steps of scientific method.
(ii7) Explain the merits and demerits of Privatization.

(1v) Give the information about Indian Space Research.

P.T.O.



3. Write the answer of any one of the following questions in 400 words : [20]
(1)  Describe the information about Economically Progress of India.

(i1) State the characteristics of Indian Population.

4. Write short notes on the following in 100 words each : [20]
(1) National Integration
(i)  Government
(i11) Theosofical Society
(1zv) Women Empowerment
(v» Importance of Research

(vi) Human Rights and Responsibilities.

(WS BUieR)
A : W qaH THUT 7T : 80
oAl — (/) W UYd Uefan oeavas o
(i7) IAHRStA Fh gui U uifedra.
(iii) TRUEES Hos TUST YYAUARI TRIE.

1. Eelid 9=t 100 IS W faRl (SRl 9n) [20]
(7)) YUY Hed TR H.
(1) THFS foyF= w9

(7i7) fogmma oo 8 Sd W, d T HA

IS IUIGEIETY ThHeTdl T H.

(v) YR YhR 9.

(vi) A9 Hodarded Hifed! <.

[6301]-1047 2



2. WedUh! SRl QM UIAETD W Tl 200 @ fowr : [20]

(7)) 9ddia foEr I@adiersd  Afedt R

(i) ek Ugde <@ EIL
(iii) ESEOTE UG W .
(Iv) YRAdE TaehIy] GeieATeTed Oifedt <.

3. Wiads! HIEE Tl I 400 V[ S fon [20]
(/) HRaren e foehraremea wifed fovg &
(i) 9RAE dRgEaE SftTe @

4. @reid fear 100 ws=@ g (Rl = w) [20]
(1) A T
(i) "R
(7i7) TasEiEied HEEE
(7v) TE-daeie
(v) HIeT wEe
(vi) WA TFRRF a9 whdod.

[6301]-1047 3



Total No. of Questions—4]

Seat
No.

[Total No. of Printed Pages—2

[5301]-1050

F.Y. B.A. EXAMINATION, 2018
COMPUTER APPLICATIONS-I

(Vocational Course)

(2013 PATTERN)

Time : 2 Hours

Maximum Marks : 40

(1) Draw a neat-labeled diagram wherever necessary.

[10]

NB. —
(ii) Figures to the right indicate full marks.

1. Answer the following : (any five)

(7))  Computer

(i)  Octal

(fi7)) Unicode

(iv) Multimedia

(vv  ROM

(vi) Paint brush

(vii) Barcode reader.
2. Answer the following : (any ¢wo)

(1)

(1)
(111)

Explain following devices :
(a) DVD
(b) Magnetic tape

What is operating system ?

[10]

What is chatting and downloading in internet ?

P.T.O.



3. Solve the following : [15]
(a) Convert from Decimal to Binary
(55)10 = ( g
(b)  Convert from Binary to Hexadecimal
(110111)9 = ( )y
(¢ Convert from Binary to Octal
(111000111)15 = ( )g
(d) Binary Addition :
10111 + 10101 = ?
(e) Binary Subtraction :

10101 - 101 = ?

4. Answer the following : [5]
Explain steps to use mail merge in MS-Word.
Or

Define internet and explain uses of internet.

[5301]-1050 2
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Seat

No. [5301]-1051

F.Y.B.A. (Vocational Stream) EXAMINATION, 2018
FUNCTIONAL ENGLISH
(Paper-I)
[An Introduction to English Language and Writing Skills in

English (Theory)]
(2013 PATTERN)

Time : 3 Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(z) Figures to the right indicate full marks.

1. (a) Write short notes on any ¢wo of the following : [6]
(1) Nature and characteristics language
(if) Active and passive articulators

(irf) Consonants in English.

(b) Find in the blanks (any five) : [5]
() [/ j, w / are....... in English.
(i) / p, b / are................. plosives in English.

(i) The diphthongs ending in /U/ are...............

(iv) The initial consonant in the word ‘sign’ is................. .
(v» The diphthong sound in the word ‘bite is...................
(vi) The vowel sound in the word ‘book’ is................ .

(vii) The consonant cluster in the word ‘special’ is............. .

P.T.O.



(o)

2. (a)

(D)

(o

[5301]-1051

State whether the following statements are true or false (any
five) : [5]
() / v, d / are voiceless consonants.

(zi)  Voiced alveolar fricative is |t

(iii) There are twelve pure vowels in the British RP.
(iv) Diphthongs are treated as a vowel in syllable.

(v)  There are three nasal consonants in the British RP.
(vi) Vocal cords vibrate in the production of voiceless sounds.

(vii) / 1, e / are back vowels.

Use the correct tense forms of the verbs given in the
brackets [3]
After discussing for an hour, the chairman (decide) to issue
the order of dismissal of one of the employees. He (call) the
secretary and said, “I am (go) to dismiss you right now.”
Fill in the blanks with appropriate prepositions given in the
brackets. [2]
[with; of; on; in]
............ Sunday morning I was sitting...........my kids reading
newspaper. Suddenly, we heard a bird singing............. the bush
near compound wall. One............. my kids ran out to see the
bird but the bird disappeared.
Change the voice (any two) : [2]
(1) Clerk was filing the papers.
(i) The artist paints a fine picture.

(1i7) Recently, I purchased a smartphone.

2



(d) Use articles (a/an/the) wherever necessary. [2]
In........... United Kingdom, apple groves are common sight. One
can see............ apple tree outside every house. They are..........
beautiful sight when lot of apples grow on a tree and get
ripe ......... apples are collected and sent to processing factories
or for juice extraction.

(e)  Choose the correct alternative and rewrite the sentences (any
five) : [5]
(1) John (is understanding/understands) Marathi.

(i) Either Mary or her friends (are/is) right.

(7if) They should study hard to achieve success, (should
they ?/ shouldn’t they ?)

(iv) The (leg of table/table’s leg) is broken.

(v He will talk (to/with) the concerned person.

(vi) He prefers cold coffee (than/to) hot coffee.

(vii) They are (going/going to) home now.

(viii) Where (you want/do you want) to go ?

3. (a) Write notes on any two of the following : [10]
(1)  The falling tone
(i71) Word stress
(ii7) Uses of the tones.

(b)  Divide the following sentences into tone groups and mark accent

and intonation (any five) : [10]
(1) Hello sir, how are you ?
(i) As I saw him, he ran away.

(1ii) Should we go to the laboratory ?
[6301]-1051 3 P.T.O.



(1v) Help me.
(v What an interesting story !
(vi) My relatives are reaching the capital soon.

(vii) When will you help me ?

4. Develop the following points into a good paragraph of about fifteen
sentences : [10]
Environmental Pollution

Introduction

Definition

Types of pollution—Air, Water, Soil.

Causes and effects

Remedies

Need for clean environment

Conclusion
Or
Write a short paragraph on the topic ‘Necessity of Hard Work’.

5. Write a paragraph on the basis of the given information : [10]

Production of Fish Food in Maharashtra (in Thousand Tonnes)

Year | Sea Fishing Sweet water Total
Fishing Production
1997 1055 420 1465
1998 1250 470 1720
1999 990 400 1390
2000 1290 505 1795
2001 1350 600 1950

[6301]-1051 4



6. Read the following entries from the Oxford Advanced Learner’s Dictionary

and answer the questions given below (any five) : [10]

global /'glaubl; AmE 'gloubl/ adj. [usually before noun)
1 covering or affecting the wholé world: global issues ¢
The commission is calling for a global ban on whaling. ¢
the company's domestic and global markets 2 considering
or including all parts of sth: We need to take a more global
approach to the problem. o global searches on the database
o They sent a global e-mail to all staff. » glob-al-ly /-bali/
adv.: We need to start thinking globally.

glob-al-ize (BrE also -ise) /'glaubalaz; AmE 'glou-/ verd
[v. WN] (economics) if sth, for example a business com-
pany, globalizes or is globalized, it operates all around
the world » glob-al-iza-tion, -Isa-tion /,glaubalai'zeifn;
AmE gloubala'z./ noun [U): the globalization of world
trade

global 'village noun (sing.] the whole world, looked at
as a single community that is connected by electronic
communication systems

global 'warming noun (U] the increase in temperature
of the earth's atmosphere, that is caused by the increase
of particular gases, especially CARBON DIOXIDE—see also
GREENHOUSE EFFECT

globe /glavh; AmE gloub/ noun 1 [C] an object shaped like
a ball with a map of the world on its surface, usually on a
STAND S0 that it can be turned 2 (the globe) [sing.].the
world (used especially to emphasize its size). tourists
Jfrom every corner of the globe 3 [C] a thing shaped like a
ball

globe 'artichoke noun = ARTICHOKE (1)

globe-trot-ting /'glaubtrotin; AmE 'gloubtractin/ adj.
(informal) travelling in many countries all over the
world: a globetrotting journalist » globe-trot-ter noun
globe-trot-ting noun (U]

globu-lar /'globjala(r); AmE 'gla:b-/ adj. shaped like a
ball, cLoBE or globule; consisting of globules

glob-ule /'globju:l; AmE 'glazb-/ noun a very small drop
or ball of a liquid or of a solid that has been melted: a
globule of fat

Questions
(1) Write two meanings of ‘globe’.
(i) Transcribe the word ‘global’ phonemically according to British
English.
[6301]-1051 5 P.T.O.



(ii7) Transcribe the word ‘globe-trotting’ phonemically according to
American English.

(iv) Use the term ‘global village’ in your own sentence.

(v How many syllables are there in the words ‘globalize’ and
‘globule’ ?

(vi) Which syllables are stressed in the words ‘globular’ and

‘global’ ?

[6301]-1051 6



Total No. of Questions—4] [Total No. of Printed Pages—2

o [5301]-1052
F.Y. B.A. EXAMINATION, 2018
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
(Paper-I : Fundamentals of Tourism)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(zi) Figures to the right indicate full marks.
(i1i) Draw neat diagrams and sketches wherever necessary.
(17v) Use of map stencil is allowed.
1. Explain any ¢wo in brief (Around in 50 words). [10]
(1)  Natural tourism.
(ii) Meaning of tourism.
(1i7) Annual holiday.
(iv)  Visitor.
2. Write short notes on any four (Around in 100 words). [20]
(1) Balance of payment
(i1) Paid holiday
(7i7) Handicrafts

(1v)

Foreign currency
P.T.O.



(v) Tourism business.

(vi) Capital output.

3. Answer any three (200-250 words) [30]
(1) Concept of sports and adventure tourism.
(zi)  Growth of tourism in India.
(i75) What is the tourist importance to a country ?
(iv) Explain capital output ratio.

(v)  Bring out the socio-economic importance of tourism.

4. Answer in detail any one (Around in 500 words) [20]

(1) Write in detail about your study tour.

(i) Explain in detail eco-tourism and its importance.

[6301]-1052 2
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Seat

No. [5301]-1053

F.Y. B.A. EXAMINATION, 2018
PRISEE G I M B )]
(Functional Hindi : Vocational)
qIaaa 1
(Rl wmor : fafag ww, voumn @& qor =meRon)
(2013 PATTERN)
g ;. d| gue /A IHE : 80
oA —(7) weft wa efrEd §
(77) T R fa@ s/ g+ & ek %I
(iip Tawm ‘37’ iR fawm ‘a’ & SW TH & SW-Yraw § fafem)

faem ‘et
1. (3 frfafea st vt § § f6dl ure & fag &S ofR wud aftnfes
g fafEw [5]
(1) Debit
(2) Handwriting
(3) Payment
(4) Writing
(5) Department
(6) Discount

(7) Grant

P.T.O.



(em) Trafafed fe<t o=l #§ @ Tl wiwr & fau @St iR widt witenfoes
g fafEw [5]
(1) aAferehan
(2) @l
(3) auHl
(4) I
(5) v
(6) HIH
(7) T«

2. fTmfafea 4 ¥ f&dl @ W fewfml fafew . [10]
(%) ST =% 344
(@) wemn fe<d
() US|

3. UdHasw fg<i & fafay w9 wee wifsw) [12]
areram
‘TSN, TSIV SR AN R AR TR hifed |
faum ‘=’
4. fmAfafed & @ f6dl d7 & s fafew - [15]
() oMaeH A @ fHa wmli # Sier S g2
(@) #Few fedt uimen fafem |
(3) ®HYX Hi fooad fowe Hifsw)
(¥) ofaqas ‘I’ &k ‘T’ & I[NV
(3 gBfeed & fafow wer fafeu)
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5. (7) fTrfafea M &1 <t # oI v [7]
O S gHfaUl § e afiTsed ofR. o7 UyIHalt TedW, SiRedd,
Tadd, foead, 9o ®Hd sud TR fehar g@dd A@E. R,
el fohar ArRel il Uee A, Uu e 1 Ol AT
TYAl. d YU g9 EId. 9 RO 3T ki, BHUl MU gwfaor Il
TG, WO, Heqdl, TH, b, G SIH, FEYdl A e eer=
Ay Se. I Tl AHEIM YvASde Aid. FeUEE Sl gdal S
Suftergeish  g9adl dl AU |
(9) 9=rE & TH SHR R oS ¥ gL U & faw streeA-ud

fafEm [8]

6. fTmafafead § ¥ fesl 99 w fewfet fafew [18]
(}) HFR & HEASA
(9) e 3R &

(7) YRAE AlheS] w1 AT w9
() STMRA-U 1 &I A
() & 4 g faedl

[6301]-1053 3
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Seat

No. [5301]-1055

F.Y. B.A. EXAMINATION, 2018
COMPUTER APPLICATIONS-II
(Vocational Course)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Attempt all questions.
(i) Figures to the right indicate full marks.

1. Answer the following : (any five) [20]
(a) Define :
(1)  Program

(zi)  Flowchart

(b) Explain while loop with syntax and example.

(¢) Explain increment and decrement operators with example.

(d) What is array ? Explain need for array.

(e) Explain printf( ) and scanf( ) functions.

(/  Explain any ¢wo Data types in C.

()¢ What is variable ? State rules for defining variable name.
2. Write a program to solve the following (any ¢wo) : [10]

(a) Write a program to find maximum and minimum of three numbers.

(b) Write a program to count the vowels in a string.

(¢) Write a program to display multiplication table of any no.

P.T.O.



3. Find
(a)

()

(o)

[65301]-1055

the output (any two) :
void main()
{
int no, ans;
no = 5;
ans = sqr(no);
Printf(“Answer=%d’,ans);
}
square(int n)
{
return (n*n);
}
#include <stdio.h>
void main()
{
int a=10, b=11;
int c:
c=(a<b)?a:b
Printf(“%d”,c):
}
#include <stdio.h>
void main()
{
char str[10];
Printf(“Enter any string:”);
Scanf(“%s”,&str);

[10]

Printf(“String contains : %d characters”, strlen(str)):
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